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Question Number : 1 Question Id : 64635016673 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

A teacher gives lot of positive and negative examples to support his / her presentations in the
classroom. Thigs will be related to which level of teaching?

(1) Autonomous development level (2)
(3) Understanding level (4)

Options:

Memory level

Reflective level



E4E350654595. 1
64535065500, 2
64535065501, 3
64535065502, 4

Question Number : 1 Question Id : 64635016673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HIZ AT FHell § 1 Teqfd & T 7 56 H FhIeaeh S TehAIh I T HLd1 /w2 |
72 fem & fom vt & waftm gm?

(1) e fowm wr (2 wgfdTm
(3)  HAFEIYg i @) &= =
Options:

645350654399, 1
E4E35065500. 2
E4E35065501. 3
EAE35065502. 4

Question Number : 2 Question Id : 64635016674 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Below are listed some learners’ characteristics. Identify those that help in effective teaching.

(a) Learners’ respect for teacher

(b) Learner’s level of mental ability

(c) Learner's previous experiences

(d) Learner's level of interest to study

(e) Learner's level of interpersonal relation
(fi Learner's view about the society

Select yvour answer from the options given below :

(1) (&), ®), (© and ® (2) (c), (), (e) and (D)
3) (@), ), (c) and (d) @ (b), (), (d) and ()
Options:

64535065503, 1
64535065504, 2
64535085505, 3
EAEZ5065506. 4

Question Number : 2 Question Id : 64635016674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535065503, 1
64535065504, 2
64535085505, 3
EAE35065506. 4

Question Number : 3 Question Id : 64635016675 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Below are given two columns. Column — A lhists methods of teaching and Column — B lists the
focus of a method. Match Column — A with Column — B.

Column A Column B
(a) Lecture method (1) Emphasizing the participative procedure
of an act
(b) Demonstration method (i) Experience based learning
(c) Project method (111) Imparting large amount of knowledge
(d) Collaborative method (iv) Students engage in different activities

together and learn
Select your answer from the options given below :
(1) @-0); b)), ©)-@); @-av)
@  (@-a); b)-av); ©-0); (d)-Q)
@  (@-Gi); (b)-0); ©-Gi);, (d-0v)
@  (a-0i); (b)-G); ©-0v); -0

Options:
64535065507, 1
64535065508, 2



E4E35065509. 3
BAE35065510. 4

Question Number : 3 Question Id : 64635016675 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535065507, 1
64535065508, 2
64835085509 2
4535065510, 4

Question Number : 4 Question Id : 64635016676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Below are listed some activities performed by a teacher. Which activities are of the nature of
formative evaluation?

(a) Giving a mastery test

(b) Conducting quiz session

(¢) Evaluating students in grading system

(d) Providing feedback while teaching

(e) Encouraging students reflect more

Select your answer from the options given below :
1) (a), (b) and (©
@ (b)), ©and(d)
3)  (b), (d) and (e)

@) (), (c) and (e)
Options:
645350655111
64535085512, 2
64535065512, 3
64535065514 4

Question Number : 4 Question Id : 64635016676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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4635065511, 1

4535085512 2

64535065512,

64535065514, 4

Question Number : 5 Question Id : 64635016677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

From the hist given below, identify those teaching methods which have a great scope for
dialogic discourses.

(a) Lecture with audio — visual aids

(b) Team teaching

(¢c) Tutorials

(d) Problem solving methods

(e) Chalk and talk method

(fi  Group discussions

Select your answer from the options given below :

(1) (&), ®) and () (2) (o), [ and
3) (b, ) and () @ (d), (¢) and ()
Options:

64535065515, 1



EAE35065516. 2
B4E535065517. 3
E4E535065518. 4

Question Number : 5 Question Id : 64635016677 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64535065515, 1
64535065516, 2
64535085517, 3
EAEZ50E551E. 4

Question Number : 6 Question Id : 64635016678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Supervisor’'s certification on the thesis

(1) Gives name and fame to the supervisor
(2) Clears different bottlenecks 1in the system
(3) Gives welghtage to the scholar’'s work

(4) Ensures originality of the work

Options:

64635065519, 1
E4E35085520. 2
4535065521, 5
4535065522, 4

Question Number : 6 Question Id : 64635016678 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4635065519, 1
64535065520 2
64535065521, =
64535065522 4

Question Number : 7 Question Id : 64635016679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

After identifying the different variables and establishing the logical reasoning in theoretical
framework, the next step in the research process 1s to

(1) Conduct survey (2) Generate hypothesis
(3) Focus on group discussion (4) Use experiment in an investigation

Options:

64535065523,
64535065524,
64535065525,
4835065526,

[ N Y

Question Number : 7 Question Id : 64635016679 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64535065523, 1
64535085524, 2
EAEZ50E5525. 3
EAEZIS0E5526. 4

Question Number : 8 Question Id : 64635016680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which stage in research creates a working thesis for the research paper by specifying and
organizing the category of information?

(1) Research design (2) Developing a hypothesis
(3) Rewview of literature (4) Analysis of data



Options:

64535065527, 1
4835085528 2
4535085529 2
64535065520, 4

Question Number : 8 Question Id : 64635016680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BAE35065527. 1
64535065528, 2
64535065529, 3
E4E35065530. 4

Question Number : 9 Question Id : 64635016681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Participation in which type of research has the great potential for ensuring the improvement
of the professional as well as work situation?

(1) Fundamental research (2) Applied research
(3) Evaluative research (4) Action research
Options:

E4E35065531. 1
EAE35065532. 2
B4535065533. 3
64535065534, 4

Question Number : 9 Question Id : 64635016681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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64535065531, 1
64535085532, 2
EAEZ50E5533. 3
EAE35065534. 4

Question Number : 10 Question Id : 64635016682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Reference serves the purpose of
(1) Lending authenticity to the given content (2) Insightful decision making
(3) Giving ornamental value to theresearch (4) Exhibiting the great achievement

Options:

64635065535, 1
64535065536, 2
64535065537, 2
64535065538 4

Question Number : 10 Question Id : 64635016682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E35065535. 1
EAE35065536. 2
BAE35065537. 3
64535065538, 4

Sub-Section Number: 2
Sub-Section 1d: 646350802
Question Shuffling Allowed : Yes

Question Id : 64635016683 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension



All great thinkers live and move on a high plane of thought. It 1s only there they can breathe
freely. It 1s only in contact with spirits like themselves they can live harmoniously and
attain that serenity which comes from ideal companionship. The studies of all great thinkers
must range along the highest altitudes of human thought. I have always thought that the
strongest argument 1n favour of the Baconian theory was, that no man, however indubitable
his genius, could have written the plays and sonnets that have come down to us under
shakespeare’s own name who had not the liberal education of Bacon. The magnificent ideals
that have ever haunted the human mind and given us our highest proofs of a future
immortality by reason of the impossibility of their fulfilment here, are splintered into atoms
by contact with life’s realities. Hence comes our sublime discontent. A habitual mediation on
the vast problems that underline human life and are knit into human destinies — thoughts of
immortality, of the littleness of mere man, of the greatness of man’s soul, of the splendors of
the universe that are invisible to the ordinary traffickers in the street, as the vastness of St.
Peter's 15 to the spider that weaves her web in a corner of the dome—these things do not fit
men to understand the average human being, or tolerate with patience the sordid
wretchedness of the unregenerated masses. It 1s easy to understand, therefore, why such
thinkers fly to the solitude of their own thoughts, or the silent companionship of the
immortals and if they care to present their views 1n prose or verse to the world, that these
views take a sombre and melancholy setting from “the pale caste of thought” in which they
were engendered.

Sub questions

Question Number : 11 Question Id : 64635016684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Great thinkers are content to live

(1) Amidst crises of civilizations
(2) In lofty thoughts with an exceptional calm
(3) At high altitudes in order to be away from society

(4) With complexities of life and find solutions to them

Options:

64535065539, 1
64535065540, 2
64835085541, =2
64535065542, 4

Question Number : 12 Question Id : 64635016685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the passage, our sublime discontent 1s due to

(1) Realization of our lack of contact with God
(2) Acute sensge of loneliness 1in a hostile world

(3) Possibility of immortality through some channels to god and the inability to get hold
of it
(4) The contrast between the ideals in great literature and their opposite in the real life
Options:
45350855451
4525085544 2

64535065545, 3
64535065546, 4

Question Number : 13 Question Id : 64635016686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Bacomian liberal education 1s

(1) A lofty and ideal fantasy

(2) Instrumental in making human beings rue over their destiny
(3) An engagement with the intricacies of the day to day life

(4) Equivalent to ancient ideas of sublimity

Options:

64535065547, 1
64535065548, 2
64835085549 =2
4535065550, 4

Question Number : 14 Question Id : 64635016687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Immortality is the crucial idea constantly being explored by

(1) Ordinary traffickers (2) Great thinkers
(3) Gods who appear to the thinkers (4) Scientists
Options:

64535065551, 1
64535065552, 2
E4E35065553. 3
EAE35065554. 4

Question Number : 15 Question Id : 64635016688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Why do great thinkers love solitude?

(1) To be in pursuit of the ideal in the company of immortals

(2) To spend time in peace

(3) Because they are misanthropists

(4) Because the world 1s unhealthy for them
Options:

E4E35085555. 1
E4E35065556. 2
B4535065557. 3
64535065558, 4

Question Id : 64635016683 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 64635016684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635065539, 1
64535065540, 2
64535065541, =2
E4E35085542 4

Question Number : 12 Question Id : 64635016685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635065543, 1
E4E35085544 2
64535065545, 5
64535065546, 4

Question Number : 13 Question Id : 64635016686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64635065547, 1
64535065548, 2
64535065549 =



EAE35065550. 4

Question Number : 14 Question Id : 64635016687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E4535065551. 1
64535065552, 2
64535065553, 3
64535085554, 4

Question Number : 15 Question Id : 64635016688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64835065555, 1
4535065556, 2
64535065557, o
64535065558, 4

Sub-Section Number: 3
Sub-Section Id: 646350803
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635016689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Assertion (A) : Communication has the power to inform, persuade and misinform.

Reason (R) : Propaganda blurs the thin line between truth and falsehood to be persuasive.

Choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) (A) 18 true, but (R) is false

(4) (A) 15 false, but (R) is true



Options:

64535065559, 1
4835085560 2
4535085561, 2
64535065562, 4

Question Number : 16 Question Id : 64635016689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535065559, 1
4535065560, 2
64535065561, o
64535065562, 4

Question Number : 17 Question Id : 64635016690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A basic principle of effective class room communication 1s that one should adapt his or her
OWT1 to the audience.

Which of the following would replace the gap?

(1) Accent (2) Exterior
(3) Message (4) Mannerism
Options:

64535085562, 1
EAEZ50E5564. 2
E4E35065565. 3
EAE35065566. 4

Question Number : 17 Question Id : 64635016690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E4E350655E3. 1
EAE35065564. 2
E4E35065565. 3
EAE35065566. 4

Question Number : 18 Question Id : 64635016691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A key element for effective classroom communication is

(1) Passivity (2) Negativity
(3) Deflection (4) Advocacy
Options:

BAE35065567. 1
64535065568, 2
64535065569, 3
EAE35065570. 4

Question Number : 18 Question Id : 64635016691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535065567, 1
64535065568, 2
64535085569, 3
EAE35065570. 4

Question Number : 19 Question Id : 64635016692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In communication process, body language 18 associated with

(1) A culture (2) A movie audience

(3) A classroom situation (4) A subject taught

Options:



EAE35065571. 1
BAE35065572. 2
B4E35065573. 3
64535065574, 4

Question Number : 19 Question Id : 64635016692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HeR e T ot e st frafafea 6 9 e gt 27
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Options:

64535065571, 1
64535065572 2
64835085572 2
4535085574 4

Question Number : 20 Question Id : 64635016693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Local and face-to face commumnication 1s referred to as

(1) Clinical integration (2) Demonstrative integration
(3) Social integration (4) Spatial integration
Options:

E4E35065575. 1
BAE3506557E. 2
64535065577, 3
6453508557, 4

Question Number : 20 Question Id : 64635016693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 3 A -0 =1 1 F27 Hgl 41 2 7

(1) i whiw (2) WEEH THHw
@)  waThoes T (@) Tonfr whER

Options:

64835065575, 1
E4E3508E57E. 2
64535065577, o
64535065578, 4

Question Number : 21 Question Id : 64635016694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Choose the correct alternative.
Cup 1g to coffee as bowl 15 to

(1) Dish (2) Soup
(3)  Spoon 4) Food
Options:

BAE35065575. 1
64535065580, 2
64535065581, 3
EAE3S0E5582. 4

Question Number : 21 Question Id : 64635016694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e fawed I : 9 R FTE T A FEY 2 99 F9d HeU $R T 2|
(1)  =asH (2) HU

(3) == (4) IT=F

Options:

BAE35065575. 1
64535065580, 2
64535065581, 3
E4535085582. 4

Question Number : 22 Question Id : 64635016695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The sixth number in a sequence of numbers 15 32 and each number after the first number in
the sequence 1s 4 less than the number immediately proceeding 1t. What 1s the third number
1n the sequence?

(1) 36 (2) 40
(3) 44 4) 48
Options:

64535065583, 1
64535085584, 2
E4EZ5065585. 3
EAE35065586. 4

Question Number : 22 Question Id : 64635016695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

foret T w0 A o8 wE 32 R 3R 3| wI U vem UEw % W ARael Y% Hedl 36E A% gge
arefl T H 4 9 2| 36 gEal H q|i qem e 27

(1) 36 (2) 40
(3) 41 4 48
Options:

64535065583, 1



EAE35065584. 2
64535065585, 3
EAE35065586. 4

Question Number : 23 Question Id : 64635016696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a class, 20% of the boys have blue eyes and 10% of the girls have blue eyes. If the ratio of
boys to girls in the class is 4 : 3, then what 1s the portion of the students in the class having
blue eyes?

(1) 12/ 33 2y 1445
@ 11/45 @ 11/70

Options:

4835065587,
4535065588,
64535065589,
64535065590,

[

Question Number : 23 Question Id : 64635016696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
foeft e © 20% o=l I o el ? et 10% wsfEd 6 e et 21 afE wan § @S &
agferdi &1 o 4 ¢ 3 2 @1 wen ° Neft o€ g fgenfd= o s 27

(1) 12/33 (2) 14/45
(3) 11/45 @ 11/70
Options:

64535065587, 1
64535065588, 2
E4E35065589. 3
EAE35065530. 4

Question Number : 24 Question Id : 64635016697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

During one vear, the population of a town increased by 5% and during the next year, the
population decreased by 5%. If the total population 1s 29925 at the end of the second year,
then what was the population size in the beginmng of the first year?

(1) 25000 (2) 30000
(3) 33000 (4) 36000
Options:

E4E350855591. 1
EAE35065592. 2
B45350655583. 3
64535065594, 4



Question Number : 24 Question Id : 64635016697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el TR i SEE H UH a¥ 5% 6 ghE T3 IR O a9 e ° 5% @i fiuae o) 3fg gh |y
& ¥d U FA AEEN 29925 2 1 WUH A9 F WA H TR AEE o6 ?

(1) 25000 (2) 30000
(3) 33000 (4) 36000
Options:

64535065591, 1
64535085532, 2
E4E350655593. 3
EAE35065594. 4

Question Number : 25 Question Id : 64635016698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The simple interest on a certain sum of money at the rate of 5% p.a. for four years 1s Rs. 420.
At what rate of interest, the same amount of interest can be received on the same sum after
two and half years?

(1) 4% (2) 6%
3) 8% @) 10%
Options:

645350655395, 1
645350855396, 2
EAEZ5085597. 3
E4E35065598. 4

Question Number : 25 Question Id : 64635016698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt w=fst =1 5% 1 T W WEw AW 420 WY 2 A R6E 9 2 O 34t #@ gt w96 %
TSI S T 3a<t € Tl e E et 27

1) 4% (2) 6%
(3) 8% 4) 10%
Options:

E4E35065555. 1
EAE350655596. 2
B4E5350655597. 3
64535065538, 4

Question Number : 26 Question Id : 64635016699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘All children are not greedy’ 1s an example of which proposition?

(1) Universal Affirmative (2) Universal Negative
(3) Particular affirmative (4) Particular Negative
Options:

E4E350655599. 1
64535065600, 2
64535065601, 3
E45350E560Z. 4

Question Number : 26 Question Id : 64635016699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

At o= AT T2 2| 98 6 9 99E W TR R

(1)  AEATs AfaasEs (2) TS TiaeT=E
@) fafe afte=s (4) Tabe afeE=Es
Options:

E4E35065595. 1
645350656800, 2
64535065601, 3
E453506560Z2. 4

Question Number : 27 Question Id : 64635016700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The argument which claims that its conclusion 1s conclusively supported by its premises 1s

called

(L) Analogical Argument (2) Inductive Argument
(3) Demonstrative Argument (4) Deductive Argument
Options:

E4E35065603. 1
64535065604, 2
64535065605, 3
E45350E560E. 4

Question Number : 27 Question Id : 64635016700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a7 %, fored 38 s W = &1 st 2 56 send wm fews enenfemett gro gota: wwfifa 2, seam 2:

()  HGeII a (2) AT dh
(3)  TEN dh (4) AT 9

Options:



EAE35065603. 1
64535065604, 2
645350656805, 3
64535065606, 4

Question Number : 28 Question Id : 64635016701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a school, there are five teachers. A and B both are teaching Hindi and English. C and B
both are teaching English and Geography. D and A both are teaching Punjabi and Hindi. E
and B both are teaching History and French

Who among the teachers 1s teaching maximum number of subjects?

(1) A 2y B
(3) D 4 CandE
Options:

EAE35065607. 1
E4E35065608. 2
645350656800, 3
64535065610, 4

Question Number : 28 Question Id : 64635016701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ot faamem o o= sterme 21 A TR B g1 B2t o s &1 e R ' #1 C o B g1 Ssh
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Options:

EAEZ50E5607. 1
E4E35065608. 2
E4E5350656800. 3
64535065610, 4

Question Number : 29 Question Id : 64635016702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the example provided below :

“There 15 no jar now on the ground”

Identify the means of knowledge (Pramana) involved 1n the example from the options given
below :

(1) Anupalabdh (2) Arthapatti
(3) Pratyaksha (4) Anumana



Options:

64535065611, 1
E4E35085E812. 2
45350858132 2
4535065614, 4

Question Number : 29 Question Id : 64635016702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T o T Serm W famm it
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(3) T 4) A

Options:

4635065611, 1
64535065612, 2
64535065613 =
64535065614, 4

Question Number : 30 Question Id : 64635016703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Consider the argument given below :

“Sound is permanent because it is audible”

Identify the fallacy invelved in the above argument on the basis of Indian logic from the
options given below :

(1) Fallacy of trivial reason
(2) Fallacy of irrelevant reason
(3) Fallacy of contradictory reason

(4) Fallacy of wrong assertion
Options:
EAE35065615. 1
E4E35065616. 2
B4E35065617. 3
64535065618, 4

Question Number : 30 Question Id : 64635016703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



44 fow e @k W famm B,
“wfy Tl 2 wifE 7' a=m R
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Options:

4535065615, 1
64535065616, 2
64535065617, o
64535065618, 4

Sub-Section Number: 4
Sub-Section 1d: 646350804
Question Shuffling Allowed : Yes

Question Id : 64635016704 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Juestion Label - Comprehension

Consider the following table that shows the percentage (%) distribution of population of six
cities A-F, ratio of males to females and the percentage (%) of adult population 1n these
cities. Total population of these a1x cities 18 24 lakhs. In accordance with the table, answer
the questions that follow (Questions 31 - 35) :

Population city wise
City % of population Male: Female % Adult

A 21 4:3 60
B 18 i 64
§ 16 5 | i
D 20 2:8 70
E 10 1 B 15
F 15 a3 65

Sub questions

Question Number : 31 Question Id : 64635016705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



What 1s the total number of male population 1in City D?

(1) 1.88 lakh (2) 1.92lakh
(3) 1.96 lakh (4) 2.04 lakh
Options:

B4E535065615. 1
E453S065620. 2
64535065621, 3
EABEZS0E5E2Z. 4

Question Number : 32 Question Id : 64635016706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the number of persons in City C who are not adult?

(1) 107520 (2) 108410
(3) 109560 (4) 110800
Options:

B4E35065623. 1
64535065624, 2
64535085625, 3
EABZS0ESEZE. 4

Question Number : 33 Question Id : 64635016707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What 1s the difference between the number of males and the number of females in City B?

(1) 42000 (2) 44000
(3) 45000 (4) 48000
Options:

E4535065627. 1
EAE3S0E5E2E. 2
EAE35065629. 3
EAE35065630. 4

Question Number : 34 Question Id : 64635016708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The number of adults in City E 1s what percent of the number of males in City D?

(1) 825% (2) 87.75%
(3) 92.5 % 4 93.75%
Options:

E4E35065631. 1



EAE350E5E32. 2
E4E35065633. 3
E4E35065634. 4

Question Number : 35 Question Id : 64635016709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is the number of persons of City F who are adult?

(1) 232000 (2) 230000
(3) 234000 (4) 242000
Options:

EAE35065635. 1
EAE35065636. 2
BAE35065637Y. 3
64535065638, 4

Question Id : 64635016704 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label © Comprehension

Trafatea afeem e o8 =0 A - F &t S7eE & Jiawa faawn, @9 e Afgen o ok 3=
Wl H ok wafhedt 1 ufawa guian mn 2, W famm fRsiv) 37 97 TR i F9 SEe 24 9nE 2
afeteht & S8R W9 | 31-35 % IR feefi

& -aN STEET

T ST H % T % aICh
A 21 4:8 60
B 18 5:4 64
C 16 5.8 72
D 20 2.3 70
E 10 gl 75
F 15 3:2 65

Sub questions

Question Number : 31 Question Id : 64635016705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

D-¥g § 769 i1 $a FHE 27

(1) 1.88d@@ (2) 1.92 @M@
(3) 1.96 &g 4) 2.0491E
Options:

E4E35065619. 1
BAE35065620. 2
4535065621, 3



EABIS0E5E22. 4

Question Number : 32 Question Id : 64635016706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

C-9 1§ 37 =afeal €1 g frat 2 < auF 74 27

(1) 107520 (2) 108410
(3) 109560 (4) 110800
Options:

EAE35065623. 1
BAE35065624. 2
64535065625, 3
EA53S0E562E. 4

Question Number : 33 Question Id : 64635016707 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

B-3ret 1 g9 R afgen & @@ 1§ fran s 27

(1) 42000 (2) 44000
(3) 45000 (4) 48000
Options:

EAE35065627. 1
BAE35065628. 2
4535065629, 3
64535065630, 4

Question Number : 34 Question Id : 64635016708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

D-3r&t § go8i 6 el T & feha afasm E-vet 09U 27

(1) 825% (2) B871.75%
3) 925% 4) 93.75%
Options:

E4E35065631. 1
BAE35065632. 2
64535065633, 3
4535065634, 4

Question Number : 35 Question Id : 64635016709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F-vi2t 1 feha =afts aoeh 27

(1) 232000 (2) 230000
(3) 234000 (4) 242000
Options:

E4EZ50E5635. 1
EAE35065636. 2
BAE35065637Y. 3
6453506563, 4

Sub-Section Number: 5
Sub-Section 1d: 646350805
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635016710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

You need to use automatic calculations in preparing a budget. Which software application
should be used?

(1) Spreadsheet (2) Presentation
(3) Word processing (4) Desktop publishing
Options:

B4E535065639. 1
64535065640, 2
E4535085641. 3
EAE350E5642. 4

Question Number : 36 Question Id : 64635016710 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tote Fior ° 2rmaent efiemtes Tiha O gsat 21 35 fOu Fe Iiredat 1 33 o st =nfEe ?

1) EEe (2) USeIH
(3) 9 JEfEm (1) TR wfsafsm
Options:

64535065639, 1
E4E35065640. 2
EAE35065641. 3
EAE35065642, 4

Question Number : 37 Question Id : 64635016711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In the context of I'T/ICT, which one of the following statements about spamming is true?

(1) Spamming 18 posting or e-mailing unsolicited advertising messages to a wide
audience

(2) Spamming is sending lines of nonsensical garbage in a chat conversation

(3 Spamming 1s posting a message that contains graphic description of something
offensive

(4) Spamming 1s an attempt to acquire sensitive information for malicious reasons, by
masquerading as trustworthy entity

Options:

4535065643,
4535065644,
4535065645,
64535065646,

[ N

Question Number : 37 Question Id : 64635016711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

IT/ICT & d=dd §, eifim & = § $t9w wom @ 27
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Options:

64535065643,
64535065644,
4835065645,
E4E3506564E,

[ N

Question Number : 38 Question Id : 64635016712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A wvirus type that is capable of transferring from one computer to another without any ‘user
interaction’ 1 known as

(1) Worm (2) Troan
(3) Key logging (4) Boot sector virus
Options:

EAE35065647. 1
E4E35065648. 2
64535065645, 3
64535065650, 4

Question Number : 38 Question Id : 64635016712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535065647, 1
EAE3506564E. 2
EAE35065649. 3
EAE35065650. 4

Question Number : 39 Question Id : 64635016713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which statement is true about Random Access Memory (RAM) in a computer system?

(1) RAM 1s non-volatile and the amount of RAM 1n a computer system cannot affect its
performance

(2) RAM iz non-volatile and the amount of RAM in a computer system can affect its
performance

(3) RAM is volatile and the amount of RAM in a computer cannot affect its performance

(4) RAM 18 volatile and the amount of RAM 1n a computer system can affect its
performance

Options:

64535065651, 1
64535065652, 2
4535085853 2
64535065654, 4

Question Number : 39 Question Id : 64635016713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Random Access Memory (RAM) & 91 § ffafga § o =9 @1+ w2t 2:
(1)  RAM amftaddig 2 ot g fawen § RAM <t amn 8 3gert * Foare qafeq =2 2 21
2  RAM rufiad-tr 2 o e fieen # RAM 1 Ao & 3wt 1 FroqmeT wenfaa 2t 2

@)  RAM vitad- 2 it S fowen # RAM it 960 ® 35 & Fwgs wwnfga 721 8 s
2

4)  RAM UREdT 2 3R w fieen § RAM 1 010 & 359 &1 Fame wefaa 21 ok 21

Options:

64635065651, 1
64535065652, 2
64535065653 o
4835085854 4



Question Number : 40 Question Id : 64635016714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s the binary equuvalent of decimal number 757

(1) 1101001 (2) 101001
(3) 100101 4) 1001011
Options:

64535085655, 1
E4E350E5E5E. 2
EAE3506565Y. 3
E4535065658. 4

Question Number : 40 Question Id : 64635016714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ZEed wEE 75 6 fg-enamt angents #9127

(1) 1101001 (2) 101001
(3) 100101 (4) 1001011
Options:

E4E35065655. 1
E4E535065656. 2
64535065657, 3
64535085658, 4

Question Number : 41 Question Id : 64635016715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The target set by Indian government for power from roof-top solar installations by the year
2022 1s

(1) 40.0 GW (2) 50.0GW
(3) 60.0 GW (4) 100.0 GW
Options:

64535065659, 1
64535085660, 2
EAE350E5EE]L. 3
EAEZS0E5EEZ. 4

Question Number : 41 Question Id : 64635016715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TG AR 210 a8 2022 9% 99 & SN fEaga % o o 97a weum & fuifa 9 2

(1) 40.0 Tfimmane (2)  50.0 TrmEre
(3)  60.0 TTER (4)  100.0 TfTTETe
Options:

64535065659, 1
EAE3S0E5EE0. 2
EAE350E5EE]L. 3
EAEZS0E5EEZ. 4

Question Number : 42 Question Id : 64635016716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
How many National Missions of Indian Government are there to address the problem of
chimate change?

(1) 6 (2) 8
(3) 12 @ 17
Options:

E4535065663. 1
64535065664, 2
E4E350E5EES. 3
EAEZIS0E5EEE. 4

Question Number : 42 Question Id : 64635016716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SeraTy qiEads S TEe & TEEE % [ ana R F s uge e 2

1y 6 2 8
(3) 12 4 7
Options:

EAE35065663. 1
EAE35065664. 2
E4E535065665. 3
64535065666, 4

Question Number : 43 Question Id : 64635016717 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following types of energy sources employ direct energy conversion process to
produce electricity?

(1) Biomass (2) Wind
(3) Geothermal (4) Nuclear

Options:



EAGE3IS0E5EEY. 1
EAE35065668. 2
E4E535065669. 3
64535065670, 4

Question Number : 43 Question Id : 64635016717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

EAGE3IS0E5EEY. 1
EAE3506566E. 2
E4E535065669. 3
64535065670, 4

Question Number : 44 Question Id : 64635016718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A geothermal reserve has the stored heat of 5 x 10¥9dJ. If the over all efficiency of a
geothermal power plant based on this reserve 1s 0.04, how much power can be produced by
the plant in 1 year?

(1) ~0.32 GW (2) ~064GW
(3) ~ 262 GW 4 ~63.41GW
Options:

E4E35065671. 1
EAB3IS0EEE7Z. 2
BAE35065673. 3
BAE35065674. 4

Question Number : 44 Question Id : 64635016718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  ~0.32 Tmare (2) ~ 0.64TmMETRE
(3) ~ 2.62 ThrETe 4) ~ 63.41 Trmare
Options:

EAE35065671. 1
BAEZS0E5E7E. 2
BAE35065673. 3
E4535065674. 4



Question Number : 45 Question Id : 64635016719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following materials 1s widely used 1n solar cell fabrication?

(1) Nubidium (2) Silicon
(3) Nickel (4) Chromium
Options:

64535065675, 1
E45350E567E. 2
EABEZS0ESEYY. 3
EAE3I50E5E7E. 4

Question Number : 45 Question Id : 64635016719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BAE35065675. 1
E453S0E567E. 2
4535065677, 3
EABE3S0E5E7E. 4

Question Number : 46 Question Id : 64635016720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The introduction of MOOC 1n open and distance learning programmes 1g justified because of
1ts

(1) Low cost considerations (2) Accessibility considerations
(3) Speed considerations (4) Novelty considerations
Options:

EAE35065673. 1
EAE35065680. 2
64535065681, 3
E453S065682. 4

Question Number : 46 Question Id : 64635016720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BAE35065675. 1
64535065680, 2
64535065681, 3
EAE3S0E5EEZ. 4

Question Number : 47 Question Id : 64635016721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Gyan Darshan” launched by IGNOU refers to which one of the following?

(1) Satellite based educational T.V. Channel
(2) Educational FM radio network
(3) (zlobal imtiative of Academic networks

(4) Online courses
Options:

64635065683, 1
64635065684, 2
64635065685, 3
64635065686, 4

Question Number : 47 Question Id : 64635016721 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4635065683, 1
64535065684, 2
64535065685, o
64535065686, 4

Question Number : 48 Question Id : 64635016722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Through which Act University Grants Commission came into existence?

(I)  UGC Act — 1956
(2)  UGC Act — 1949
(3) UGC Act — 1944
@  UGC Act — 1968

Options:

64635065687, 1
E4E3S085EEE. 2
4535065689, 5
64535065690, 4

Question Number : 48 Question Id : 64635016722 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fawafoeme orEm M 6 v frm srfufem & oefim g€ i ?

1) favatqemaz @ emm atatEm 1956
@ favatqemas apm amm atafme 1949
() Tavafaene stEm smEm sfuftem 1944
@ fTosafaemem stem emam stufm 1968

Options:

64535065687, 1
E4E35085EEE. 2
45350858389 2
64535065690, 4

Question Number : 49 Question Id : 64635016723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following nstitutions was established as a consequence to the closure of

Inter-Umniversity Board brought in for promotion of cooperation among the Universities in
the field of education and allied areas?

(1) Assocration of Central Universities
(2) University Grants Commission

(3) IIAS, Shimla

(4) Association of Indian Umversities

Options:
64535065691, 1



EAE35065632. 2
E4E5350656383. 3
E4E535065654. 4

Question Number : 49 Question Id : 64635016723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535065691, 1
64535065692, 2
64535065692, o
64535065694, 4

Question Number : 50 Question Id : 64635016724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following instructional designs 1s part of SWAYAM launched by Government of
India?

(1) E-Tutorial

(i1) E-Content

(111)  Assessment

av)  Disecussion Forum

(V) Classroom teaching

Choose the correct option from below

(1) (1) and (11) only

@ @), (i), Gv) and (v) only
(3) (1), (1), (1) and (v) only
(4) (i11) and (v) only

Options:
64535065695, 1
64535065696, 2



EAE350656397. 3
E4E35065638. 4

Question Number : 50 Question Id : 64635016724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535065695, 1
64535065696, 2
64535065697, 2
4535085898, 4
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Section Marks: 200
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Question Shuffling Allowed : Yes



Question Number : 51 Question Id : 64635016725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has defined jurisprudence as “the knowledge of things divine
and human, the science of right and wrong?’

1.  Blackstone
2. Hobbes

3. Salmond
4. Ulpian

Options:

64535065699, 1
64535065700, 2
64835085701, 2
E4E35085702. 4

Question Number : 51 Question Id : 64635016725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

45350656499, 1
64535065700, 2
64535065701, 5
64535065702, 4

Question Number : 52 Question Id : 64635016726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II :

List-1 List-—II
(a) Bentham (1)  Historical School
(b) Puchta (1)  Sociological School
(¢} Herbert Spencer (1)  Analytical School
(d) Gray (iv)  The Realist School

Choose the correct options from those given below :

1. (a-(n); (b)-Q); (©—1); (d)-Gv)
2. (a1 (D-); (o)-u); (d)-av)
3. (a)y-(w); (b)-av); (o)1), (d)—1)
4. (a-(v); (b)), (c-@); (A1)

Options:

64635085703, 1

64635085704, 2

EAE35065705. 3
EAE3506570E6. 4

Question Number : 52 Question Id : 64635016726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L. (@-ai); (b)-(); (©)-(u); (d)-(v)
2. (a)-(1); (B)u); (c)-(um); (dD)—(v)
3. (au); (B)av); (c)—m); (1)
4. (a)-iv); (b)—(un); (c)1); (1)

Options:

64535065703, 1

64535065704, 2

B4535065705. 3
4535065706, 4

(1)
(i1)
(iii)
(iv)

Question Number : 53 Question Id : 64635016727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

“The law of every modern state shows as at a thousand points the influence of both the
accepted social morality and wider moral ideals. These influences enter into law either
abruptly and avowedly through legislation, or silently and piecemeal through the judicial

process.” Who said this?

1.  Bentham
2. Gray
3.  Hart
4. Karkunov

Options:

64535065707, 1
4835085708, 2
4535085709 2
4535065710, 4



Question Number : 53 Question Id : 64635016727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘T MYFE T 31 Al Tewl figsl W Eea M 3w ok ave Afde ol
a1 & wHE @Y gxidl 21 A & 39 yHE &1 vaw a1 @t R & Wi | tes 3R Yo BY
¥ gia1 § a1 e vitha & Hier | gueiy 3R gHs! § gl € 17 9% [huet suE ?

Options:

64535065707, 1
4835085708, 2
4535085709 2
4535065710, 4

Question Number : 54 Question Id : 64635016728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-II ;

List—I List—I1

(a) A right which although, (1) Propretory Right
recognised by law, is not
enforceable

(b) A person’s right in relation to (1) Personal Right
his property

(c) A person’sright relating to (111) Imperfect Right
status and that ansing out of
contract

(d) A nght which does not create (1v) Conftingent Right
an immediate interest

Choose the correct options from those given below :
1. (a)); (b)); (e)—(id); (1)
2. (a)ui); (b)-1); (¢)—1); (D))
3. (a)-(); (b)—(in); (e)-(v); (-
4. (@-1v); (b)-(n); (e)—1); (d)—(m)

Options:

4535065711,
4535065712,
64535065713,
64535065714,

[ N

Question Number : 54 Question Id : 64635016728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
45350685711, 1

EAE350E5712. 2
EAE35065713. 3
BAE35065714. 4

Question Number : 55 Question Id : 64635016729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘A legal person is any subject matter other than a human being to which law attributes
personality’, is the statement of':

[ Blackstone

2. Salmond

3.  Holland

4. Bentham
Options:

E4E35065715. 1
EAE35065716. 2



EAE35065717. 3
B4E35065718. 4

Question Number : 55 Question Id : 64635016729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
45350685715 1

EAE350E571E. 2
EAE35065717. 3
B4E35065718. 4

Question Number : 56 Question Id : 64635016730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Possession through an agent or servant 1s an example of :

1.  corporeal possession
2. incorporeal possession
3.  mediate possession

4. immediate possession

Options:

64635065719, 1
4535065720, 2
64535065721, 2
64535065722, 4

Question Number : 56 Question Id : 64635016730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835065719, 1
E4E35085720. 2
64535065721, o
4535065722, 4

Question Number : 57 Question Id : 64635016731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The liability has been defined as “the bond of necessity that exists between the wrongdoer
and the remedy of the wrong” by

1. Austin

2. Bentham
3. Salmond
4. Holland

Options:

64835065723, 1
E4E35085724 2
64535065725, o
4535065726, 4

Question Number : 57 Question Id : 64635016731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. affes
2. ®YH
3.  gEus
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Options:

64535065723, 1
64535065724, 2
4835085725 2
E4E3508572E. 4

Question Number : 58 Question Id : 64635016732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Sustainable Development Goals (SDGs) committed to provide
(a) Universal access to affordable, reliable and modemn energy services
(b) Improving the share of renewable energy
(¢) Doubling of energy efficiency by 2030
(d) Protection of ocean and wetland
Select the correct answer using the options given below :
1. (a), (b) and (c) are true
2.  (a), (c) and (d) are true
3. (b), (¢) and (d) are true

4. (a), (b) and (d) are true

Options:
64635065727, 1
64535065728, 2

64535065729, 3



EAE35065730. 4

Question Number : 58 Question Id : 64635016732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535065727, 1
64535065728, 2
4835085729 2
4535085720 4

Question Number : 59 Question Id : 64635016733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

UN Commuissioner for Human Rights 1s appointed by
1.  General Assembly
2. Security Council
3.  Secretary General

4. Human Rights Council



Options:

64535065731, 1
4835085732 2
E4E35085732. 2
4535065724, 4

Question Number : 59 Question Id : 64635016733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. HeMRd
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Options:

64635065731, 1
64535065732 2
64535065733 2
E4E350857324 4

Question Number : 60 Question Id : 64635016734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who among the following stated that ‘postmodermism 1s a notoniously ambiguous
concept’™

1. Lloyd
2. Toynbee
3.  Somervell

4. Bentham

Options:

64535065735, 1
4835085736 2
E4E3508E73Y. 2
64535065725, 4

Question Number : 60 Question Id : 64635016734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635065735, 1
64535065736, 2
64535065737, 2
64535065738, 4

Question Number : 61 Question Id : 64635016735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following cases the Supreme Court said that ‘Fundamental Rights and
Directive Principles’ aim at the same goal of bringing about a social revolution and
establishment of a Welfare State and they can be interpreted and applied together and
they are supplementary and complementary to each other?

1. Maneka Gandhi Vs. Union of India
2 Re Kerala Education Bill
3. Minerva Mills Vs. Union of India

4.  Kesvananda Bharati Vs. State of Kerala

Options:

4635065730, 1
64535065740, 2
64535065741, =
64535065742 4

Question Number : 61 Question Id : 64635016735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635065739, 1
E4E35085740. 2
4535085741, =2
4535065742 4

Question Number : 62 Question Id : 64635016736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following cases the Supreme Court said that Governor cannot exercise
his power of suspension of the sentence under Article 213 of the Constitution of India,
for the period when the Supreme Court is seized of the case. The order of the Governor
could only operate until the matter became subjudice in the Supreme Court and it
becomes so on the filing of the petition for special leave to appeal?

1.  Satpal Dang Vs. State of Punjab
2 D. C. Wadhwa Vs. State of Bihar
3.  K.M. Nanavati Vs. State of Bombay

4. A K. RoyVs. Union of India

Options:
42350685743 1

EAE35065744. 2
B4E35065745. 3
BAE3506574E. 4

Question Number : 62 Question Id : 64635016736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535065743, 1
4535065744 2
64535065745 o
64535065746, 4

Question Number : 63 Question Id : 64635016737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following statement/statements 1s/are correct?

(a) If the other House does not pass an Ordinary Bill and more than six months have
passed, the President may summon a Joint Session of both the Houses.

(b) At the Joint Session of two Houses, new amendment can be proposed in the Bill
with the permission of the Presiding Officer (Speaker of the Lok Sabha).

(¢) The Lower House has exclusive power over Money Bills.

(d) Money and Financial Bills can be only introduced in the Lok Sabha and with prior
recommendations of the President.

Select the correct answer using the code given below :
1. Only(a)

2. (a), (b)and(c)
3. (a),(c)and(d)

4. (a), (b), (¢c)and(d)
Options:
42350685747, 1
64635065745, 2
4635065749 3



EAE35065750. 4

Question Number : 63 Question Id : 64635016737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4535085747. 1
EAE3506574E. 2
EAE35065749. 3
BAE35065750. 4

Question Number : 64 Question Id : 64635016738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List—I with List—II :

List-1 List—II
(Provisions) (Relevant Supreme Court
Cases)

(a) Appointment of judges of (1) InRe: Vinay Chander
Supreme Court Mishra

(b) Jurisdiction of Supreme Court (11) S C Advocates-on-Record
as Court of Record Association Vs. Union of

India

(¢) Onginal jurisdiction of (111) A. R. Antulay Vs. R. S.
Supreme Court Nayak

(d) Power of Supreme Court to (1v) State of Karnataka Vs.
withdraw and transfer of cases Union of India

Select the correct option from those given below :

L (a)~1); (b)—1); (¢)-v); (d)—(m1)

2. (a)-(v); (B)-Qu), (c)-1); (D)D)

3. (a)HD): (b)-v); (e)-(u); (D))

4. (a~1); (D-); ()uD); (d)—av)
Options:
64635065751
64635065752,

B4E535065753.
E4535065754,

[ N N

Question Number : 64 Question Id : 64635016738 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



a1 &1 geEi-11 8 gafera s
-1 G-I

(TTaer) (T=TH T &
UTTD)
() CTEHIEEERIEEE () 0 SR BmEgfay
o1 Fgfe

(b)  T=gH TIEd & (i) 9. . uEaiehgy-3H-
‘3ffHeRg T’ & ®0 TS TR ¥
R IIRER HRT g9

(c) I dH T ST Hd (i) U S 3Fgd §7H 3R
A IIBEAR 0. 9195

(d) FHIEARIRWFERRT  (iv)  FHeics I9 §H
B DI JATH AT Dl YR 9
wfgaar

e et gha

—

(@)i); (0)-(0); (9-Gv); (D)
2. (@-v); (B)(i: (0)-Gi; ()
3.0 (@-0; (B)-Giv); (o)(Gii); (i)
4. (@) (B); (©Gi); (@)

2222153:565?5 1.1

EdBZE0E5752. 2

E4E35065753. 3
EAE35065754. 4

Question Number : 65 Question Id : 64635016739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statement/statements is/are NOT correct?

(a) The declaration of National Emergency on the ground of ‘Armed Rebellion’ was
inserted by the Constitutional (42 Amendment) Act, 1976.

(b) President shall not issue a proclamation under Clause (1) Arficle 352 unless the
decision of the Umon Cabinet (the Prime Minister and his Council of Mimsters) 1s
communicated to him in writing.

(¢) A resolution approving the proclamation of National Emergency must be passed
by special majority.

(d) A proclamation of Emergency once approved by the Parliament shall remain in
force until the emergency ceases.

Select the correct answers by using the codes given below

1 Only (a)

2. (a)and (d) both

3. (b),(c)and (d)

4. (a), (b), () and (d)

Options:

64535065755, 1
64535065756, 2
64535065757, 2
4535085758 4

Question Number : 65 Question Id : 64635016739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frafafed # 8 @F-918 Joa 981 7ol o/e?

(a) U [AEIR’ & YR T AP STUTTDBTE b1 T bl WAy (42 dvge) srfafam,
1976 &I 3fd-=41iod foean Tar Uil

(b) TPUMR 3FDs 352 & WS (1) F A HIS IguImun a9 a0 SR Tl Sl 0" IS (&5

wnﬁn%gmﬂmﬁahmuﬂm & Avig @1 39 d fafed wu § 9uftg =&t
feran SIraT g1

(c) W@uﬁwﬁmm&ﬁm - aTd Sded @ ARy g0 | Tiid fhan
ST EF |

(d) H9E& SIHICT & TG AUAHI S IgaISuT ATUTdSTd & JHIE B d% wga el |
= feu MU fdeedl A 3 I8t IR &1 TUF Sifor

1.

2.

3

4.

Options:

&ad (a)

(a) 3R (d) G
(b), (¢) 3R (d)
(a), (b), (¢) 3R (d)

64535065755, 1
64535085756, 2
EAEZ50E57EY. 3
EAE35065750. 4

Question Number : 66 Question Id : 64635016740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following provisions of the Indian Constitution have been extended to
Jammu and Kashmir state by Presidential Order?

(a) Prowvisions relating to freedom of trade, commerce and intercourse, services and
citizenship.

(b) Provisions relating to Elections.

(¢} Provisionrelating to Financial Emergency under Article 360 of the Constitution
of India.

(d) Power of High Courts to issue writs for “Any other purpose.”
Select the correct answer by using the codes given below :

1. Only(a)

2. (c¢)and (d) both

3. (a)and (b) both

4. (a),(b),(c)and (d)

Options:

45350685759 1
64535065760, 2
64535065761, o
64535065762, 4

Question Number : 66 Question Id : 64635016740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



YRd & Sy & Frafifad mau & @ SF-31 vraus Tyuii & e & gRI 99 SR R
T o fawarted fsar man g2

(a) THUR, 0T 3R THFTH &1 WcEd], YTl 2R AnTedal Sedt gaem=
(by a3 gefia vy
(¢) HRA® I P Fwve 360 & 3 A< suraeT™ | Jafed wau
(d) <fd oFT IER & (U0 SCT O HE Bt I AT ! Lfeaal
=i T MU % % vam 3 9E SR g

1. ad(a)
(c) 3R (d) T
(a) 3R (b) T
(a), (b). (¢) 3R (d)

ol

e

-

Options:
4535065759,

EABE3S0E57ED,
EAE350657E]L.
BAE3S0E5 76,

[ R

Question Number : 67 Question Id : 64635016741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Nobody can be above the institution which he 1s supposed to serve. He 1s merely the
creature of the institution, he can exist only if the institution exists. To protect the
individual as mighter than the Constitution would be grave injustice.” In which of the
following cases the Supreme Court, through Chief Justice Sikri has observed this ?

. S. S. Dhannoa Vs. Umnion of India
2.  T.N. Seshan Vs. Union of India
3.  In Presidential Reference, 2000.

4. A C.Jose Vs. Sivan Pillaa
Options:
£4E8350685763. 1
64635065764, 2
64635065765, 3
646350685766, 4



Question Number : 67 Question Id : 64635016741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“HIs Ht iR 39 T I FW 7L & Ioar ¢ R a8 Ia1 FHwar 21 98 39 I ot g
HH & 391 3if&ra a4t 9o T Jod & o1 do 39 S o1 3ifSie 21 19 fed & §=-=
T 3rftrr wigaemet & T | "R &1 7R o g FufefEa § 2 59 &u § 3=
grTea = g Ty ded & EH AT BEl € ?

1. ©UH O g §9H HRd 99

2. 7l U Y99 S99 HRG 99
3. pudE EeH, 2000 #
4, U Sy REE e

Options:

64635065763, 1
4535065764, 2
64535065765, o
64535065766, 4

Question Number : 68 Question Id : 64635016742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is correct?

1.  Admmstrative Law 1s a branch of Public Law and 1s only a part of
Constitutional Law. It cannot control the Constitutional Law:.

2. Administrative Law is a branch of Private Law.
3.  Administrative Law 1s independent to the Constitutional Law.

4.  Admurustrative Law is neither the branch of Public Law nor of private Law
but a part of Constifutional Law.

Options:

4635065767, 1
64535065768, 2
64535065769, 2
E4E35085770. 4

Question Number : 68 Question Id : 64635016742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



P i SH-ar g 22

1. yEes R, adwie Al @1 ve o € iR Saunfe i &1 ue yram
2| I8 Yaunfae fafdy &) fafaa =21 & ol 21

2. UnE=e fAfY, Foh A 3t v I B
3. ynEe A, gdurfe i @ wda g

4. U AT T a9 adwi-e [y @ e € 7 @ Sl Y $ g g Taute
fafer 1 s HAT B
Options:
C4EZEOEETEY . 1
C4EZEOEETFES. 2
E4EZE0EEFED. 2
C4EZE085770. 4

Question Number : 69 Question Id : 64635016743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following cases the Supreme Court held that ‘the audi alteram partem

rule, in essence enforces the equality clause in Article 14 and it is applicable not only to
quasi-judicial bodies but also to admmstrative order adversely affecting the party in
question ?°

1. U.P. Warehousing Corporation Vs. Vijay Narain
2. Delhi Transport Corporation Vs. DTC Majdoor Union
3.  A. K Gopalan Vs. State of Madras

4. Gullapalli Nageshwar Rao Vs. APSRTC

Options:
45350685771, 1

BAB3IS0EET 72 2
BAE350E5773. 3
BAE350657 74, 4

Question Number : 69 Question Id : 64635016743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FafaRed d 9 {59 39 d =00 a@a &1 5+ ¢ i <2iisl eaeH UcH ©d IRd: 3<q
14 H U & TS B 7T HIAT ¢ AR T8 7 a0 Sfe-TMAe (Hprl 1) ar] g 2 Sfes 39

U ST W ar i 8 ot efifa v &t faga ®U 4 wHIfdd Hear g7
1. g O IR SRURSH s fawg AREr
2. e gu SRURRS &9 1. 21 It Horgr giae
3. U & TS S AR I

4. TeoTOed! SRR 9 S99 T O 9. 3R, AL S

Options:

64635065771, 1
E4E3S0BET72. 2
E4E350EE772. 2
4535065774, 4

Question Number : 70 Question Id : 64635016744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Judicial Review of an administrative action means
1. review by the Parliament
2. review by the Government

3. review by the Legislative Assembly

e

review by the Judiciary
Options:

64635085775, 1

64635065776, 2

64635065777, 3

64635065778, 4

Question Number : 70 Question Id : 64635016744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



YRS BRATs & e YAidaie o1 oY g
1. 99 g gAdare

2. WOR GRIHRdmE

3. faum 9w gr gAfdates
4. TEOUlde! gRI gAdars

Options:

64535065775, 1
64535065776, 2
E4E350EETFY. 2
E4E3508577E. 4

Question Number : 71 Question Id : 64635016745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are the chief exponents of the “Theory of Consent’ regarding
basis of International Law?

1.  Anazlott, Triepel, Oppenheim
2. Starke, Smith, Brierly
3.  Fawett, Jellinck, Pollock

4. Kelson, Hart, Edward Collins
Options:
£4635085779. 1
£4635065780. 2
£4635065781. 3
64635085732, 4

Question Number : 71 Question Id : 64635016745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frofafEa § 9 o sfasista Al & enur & Jeu # geufa & Rgia & go7 vfaues ©
1. ufmid, fotd, siomgram
2. %, fey, soRl
3. OHc, Sicds, Oiedle
4. BeET, §, USaE Bl

Options:
E4E3506857749. 1

EAEZ50657E0. 2
E4E35065781. 3
BAE35065752. 4

Question Number : 72 Question Id : 64635016746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Read both Assertion (A) and Reason (R) and give the correct answer by using the code
given below :

Assertion (A) : Article 38 of the statute of International Court of Justice lists
International Conventions, whether general or particular, establishing
rules expressly recognised by the contesting states as the first source of
International Law.

Reason(R) : Inmodem period, International Treaties are the most important source
of International Law.

Select the correct answer
1. Both(A) and (R) are correct and (R) 1s the correct explanation of (A)
2. Both(A) and (R) are correct but (R) 1s not the correct explanation of (A)
3. (A)is correct but (R) is wrong
4. (A)is wrong but (R) is correct

Options:

64535065783, 1
64535065734, 2
E4E350857E5. 2
4535065756, 4

Question Number : 72 Question Id : 64635016746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
3BT (A) IR T (A) TRI BT U -
MMUBYT(A) : ICTIRAA BIC 3 Slied & UN-aH & 3g=dg 38 H IR a1 Ay

ﬂﬁﬂ%ﬁfﬂﬁﬁ@ﬁﬂ?%ﬁﬁ%@ﬁﬁﬂﬁﬂﬁﬁﬂﬁﬂﬁm
Sisia i & vum Wi & w9 # R o

a& (R) . YFE FTa A SRiTia Il SicRigi faft & waifvs mewyf Hid g
wel ey g -

1. (&) 3R (R) T eI § 3R (A) B 91 TR (R) 8

2. (A) AR R) I HE Ui (A) B & I (R) TE @

3. (A)FSTRGR) Taad

4. (A)TEdE WY (R) FEI

Options:

64635065783, 1
64535065784, 2
64535065785, o
E4E350857EE. 4

Question Number : 73 Question Id : 64635016747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statement/statements is/are correct?
(a) “Hegel’ is one of the chief exponents of the ‘Constitutive Theory” of recognition.

(by Civil Air Transport Incorporated Co. Vs. Central Air Transport Corporation is a
leading case on the retrospective effect of recogmtion.

(¢c) De jure recognition is not final and can be withdrawn.

(dy In Luther Vs. Sagor it was held that there 1s distinction between de facto and de
Jure recognition for the purpose of giving effect to the internal acts of the
recogmsed authonty.

Select the correct answer using the code given below :
1.  Only(a) is correct
2. (a), (b) and (c) are correct
3. (a), (b) and (d) are correct

4. (a), (b), (¢) and (d) all are correct
Options:
£4E8350685787. 1
64635065788, 2
64635065789, 3
646350685730, 4

Question Number : 73 Question Id : 64635016747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Fafeied § 9 oH-919 aeaw 939 8/8?
(a) B A & TS NG $ THd Taues §

(b) FHf3e TR T FHRURRS . 91 Jcd TR T9UIc SRONTS A5 &
UdeaTdt WHTE &1 U8 e 39 2

(c) Tafda aran aifem =&t & ok 2 g formn o T 2

(d) TR M IFIR &Y H T8 99 I T {6 °41 Wil & 3idRe Sl &l dr] &
%G%W%H%ﬂﬂ 3R At Ao & 3w B

IR fir M e F W A I IR
I &dd (a) T T
2. (), (b) MR () WEE
3. (a),(b) SR THE
4 (@, ), () 3R @ TR

Options:

E4E350685757. 1
645350657388, 2
64535065789, o
64535065730, 4

Question Number : 74 Question Id : 64635016748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following case, 1t was held that 1f a person 1s not a citizen of any state, he
will be called ‘stateless’ ?

1. Nottebohm’s Case
2. Whicker Vs. Hume
3. Winans Vs. A. G.

4. Stoeck Vs. The Public Trustee
Options:
CAEZE08EF91. 1
C4dE2E0s57F92. 2
C4do3IE0eEF93 3
E4EZE0EET94. 4



Question Number : 74 Question Id : 64635016748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pofifed 9 3 ey 39 8 gg oG gen & ot 12 afdd B Isa &1 e =78 &,
dl 39 “TAAe - HEl SE?

1. Flcama®g
2. HIHI I g0

3. T smu ot
4. TWIU®H TH T UIID Rl

Options:

64535065791, 1
64535065732, 2
E4E35085732. 2
4535085794 4

Question Number : 75 Question Id : 64635016749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following statement/statements 1s/are NOT correct?

(a) According to Article 16 of the Umiversal Declaration of Human Rights, ‘Everyone
has a night to seek and enjoy in other countries asylum from prosecution.’

(b) In 1967, United Nations Declaration on Temitorial Asylum was unammously
adopted by the General Assembly.

(¢) The Convention on the Status of Refugees, 1951 entered into force on April 24,
1956.

(d) Inthe Asylum Case (Colombia V. Peru) the International Court of Justice explained
the distinction between ternitorial asylum and diplomatic asylum.

Select the correct answer using the code given below

1. Only(a)
2. (a)and (b)
3. (a)and(c)

4. (a), (b),(c)and (d)

Options:
45350685755, 1



EAE35065736. 2
BAE35065737. 3
E4E535065738. 4

Question Number : 75 Question Id : 64635016749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fofifed # | oF-918 Jeqe 981 el 8/87

(a)

(b)

(©)
(d)

TAHINS AFATYSER G0 & TG 16 F S9R ‘WIS Jfed &1 e & g
37 ST § 5 3 2R 3 &1 efYer 21

Ygad TP B IS9EET IR0 Jaedt G0 B S U gRT 1967 H Tdud ¥ WeR
foran |

ot pfeufa SEedt |, 1951, 24, 0@ 1956 &1 UIT g2
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Options:

Fad (a)
2. (a) 3R (b)

—
.

3. {(a)3MR(c)
4. (a), (), (c) AR ()

B4535065755. 1
BAE35085736. 2
64535065737, 3
E4535085738. 4

Question Number : 76 Question Id : 64635016750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List—I with Last-II :

List—I List—II

(a) Date and year of establishment (1) 2 May, 1981
of United Nations

(b) The first Secunity Council came (1) 1 Jan, 1992
into being

(¢) Paris Declaration on Sanctions (1) 12 Jan, 1946
against South Afrnica

(dy Mir. Boutros Boufras Ghali took  (1v) 24 Oect, 1945
over as Secretary General of the
UN

Choose the correct option from those given below :
L. (@-); (-); (©-u); (d)-av)
2. (a)-(m); (b)-); (¢)-(v); (D))
3. (a)-v); (b)-(1); (c)-(un); (<D
4. (@)-v); (b)-(ui); (c)-@1); (d)-(i)

Options:

E4E3506857499. 1
64535065800, 2
64535065801, 5
64535065802, 4

Question Number : 76 Question Id : 64635016750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



1 31 11 @ g SR

el -1

() dgwIPIRMETSIGR @ 28 1981
AR Ty

(b) %M$&ntr?maﬁaﬂﬁ (i) 1 &, 1992

(c)  GleI enpidl & fes (i) 12 S=ad, 1946
Ui gTwuT St HeE
() ot TR ITel! Tgad (iv) 24 3aET 1945
W%&W
() &
el fawet gi=a

L. (@) (b)-u); (©)—-1u1); (d)-(v)
2. (a)p(in); (b)-); (e)—iv); (d)—)
3. (a-av); (b)), (e)-id); (D)
4. (a-av); (b)-(); ()-); (d)—(1)

Options:

64535065799, 1

64535065800, 2

64535065801, 3
64535065802, 4

Question Number : 77 Question Id : 64635016751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statement/statements is/are correct?

(a) The operation of the doctrine of forum prorogation has not been envisaged under
the UN Charter or the Statute of the International Court of Justice.

(b} The doctrine of Forum Prorogatum may not operate where the court already has
jurisdiction ratione personae.

(¢) The Doctrine of the Forum Prorogatum affords an informal way for a state fo
express consent to the jurisdiction of the court.

(dy The principle underlying doctrine of forum prorogatum was enunciated by the
Permanent Court of International Justice in the Island of Palm is Case (1928).

Select the correct answer from the code given below :

—a

Only (a)

2. (a)and (o)

3. (b), (c)and (d)

4. (a), (b), (c) and (d)

Options:

64535065803, 1
4835085804, 2
4535085805 2
64535065806, 4

Question Number : 77 Question Id : 64635016751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. &ad(a)
2. (@) 3R (o)
3. (), (0) 3R (d)
4. (a), (b), (0) AR (d)

Options:

4535065803, 1
64535065804, 2
64535065805, =
64535065806, 4

Question Number : 78 Question Id : 64635016752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following statement/statements is/are correct?

(a) WTO was established as a result of the culmination of Uruguay Round of GATT.
(b) The new World Trade Orgamisation (WTO) came into effect on Jan 1, 1995,

(¢) At the time of establishment WTO had 88 members.

(d) The 7® Ministerial Conference of WTO was held in Marrakesh (Morocco) from
30 November to December 2, 2008.

Select the correct answer from the code given below :
1. Only(a)
2. (b)and(c)
3.  (a)and (b)
4. (a),(b),(c) and(d)

Options:

64535065807,
4835065208,
4535085209,
4535065810,

o IR

Question Number : 78 Question Id : 64635016752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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|
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1. &d9d(a)
2. (B3R
3. (a) 3R (b)
4. (a), (b), () 3R (d)

Options:

64535065807, 1
64535065808, 2
64535065809, 2
4535085810 4

Question Number : 79 Question Id : 64635016753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one the following is NOT a principle which is the very foundation of International
Humanitarian Law and which must guide emergency humanitarian actions in armed
conflicts?

1.  Prnciple of Humamty
2. Principle of Impartiality
3.  Prnciple of Neutrality

4. Principle of Self-determination
Options:
64635085811, 1
64635065812, 2
64635065813, 3
64635065814, 4



Question Number : 79 Question Id : 64635016753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Froafafed 8 8 SH-91 iyl AFaaE S o1 1uR T8 8, a1 o 97 guy &t 9t &
IS TE HFadEATG! S B BT AR TR BT 82

. Hgdl &1 R
2. UUd 7 & B Rigd
3. doxa & Rgid

4. 3fH-Ted B Kgid

Options:
4535065511, 1

EAE350E581Z. 2
EAE35065813. 3
E4E35065814. 4

Question Number : 80 Question Id : 64635016754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : International Humanitarian Law (IHL) 1s the law that regulates the
conduct of war (jus in bello). It 1s that branch of International Law
which seeks, to lirmt the efforts of Armed Conflicts by protecting
persons who are not participating in hostilities and by restricting and
regulating the means and methods of warfare available to combatants.

Reason (R) : Infernational Humanitarian Law (IHL) 1s inspired by considerations of
humanity and the mitigation of human sufferings.

Select the answer from the code given below :
1. Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3.  (A)i1s true but (R) is false

4. (A)1s false but (R) is true
Options:
64635065815 1
64635065816, 2
64635065517, 3
64635065818, 4



Question Number : 80 Question Id : 64635016754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635065815, 1
64535065816, 2
64535065817, 2
64535065818, 4

Question Number : 81 Question Id : 64635016755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following statements correctly reflects the cardinal principle, *Actus non
facit reum nisi mens sit rea’?

.. Mens rea 1s an essential element of a crime and there cannot be a crime
without mens rea.

2. Criminal liability under Indian law always implies mens rea.

3. To constitute a ecrime there must be actus reus and mens rea.

4. Actus reus is not always necessary to constitute a crime.
Options:
64635085819, 1
64635065820, 2
64635065821 3
64635065822 4



Question Number : 81 Question Id : 64635016755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350655819, 1
64535065820, 2
4535085821, 2
64535065522, 4

Question Number : 82 Question Id : 64635016756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

X with the intention to steal ornaments opened ¥ s box and found it empty. Which of the
following statements is correct?

1. X is not liable for attempt to commit theft as the box being empty,
commission of theft was impossible.

2. Xisnot liable for attempt to commit theft as he did not do the penultimate
act towards commission of theft.

3.  Xisnot guilty of attempt to commut theft as the ornaments were not in the
box.

4. X1s guilty of attempt to commit theft as he had an intention to commit theft
and did an act toward its commuission.
Options:
64635065823, 1
64635065824 2
64635065825, 3
64635065826 4

Question Number : 82 Question Id : 64635016756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E4EZE0E5523.

1
EAE35065824. 2
E4E35065825. 3
BAE35065826. 4

Question Number : 83 Question Id : 64635016757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The accused at the time of committing the act because of unsoundness of mind 1s
incapable of knowing

(a) the nature of the act
(b) that the act1s wrong or contrary to law
(¢) that the act 1s unethical and wrong

(d) that the act1s morally wrong but not contrary to law

To claim the benefit of Sec. 84 of IPC which of the above needs to be proved?
Give the correct answer :

1. (a)and(d)
2. (a)and(b)
3. (bjand(c)
4. (c)and(d)

Options:

64535065827, 1
E4E35085E82E8. 2
4535085829 2
64535065820, 4



Question Number : 83 Question Id : 64635016757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

3T S Bl B THY (T BTG H TE1 U7 3R T8 S H 3re o
FA B TPl

% P TTad € SUdl B & G ¢

i P aFfae iR e @

5 P A TUA A 8 W HrE > e TE 8

HRATT <8 Sigdr 1 4T 84 & @THI &1 /[ $37 & o8 SURied 5 ¥ g vHIive &3 &t

(a)
(b)
(c)
(d)

Options:

I

Z

3.

4.

(a) 3R (d)
(a) 3R (b)
(b) MR (c)
(0) 3R (d)

BAE35065827. 1
64535065828, 2
64535085829, 3
EAE35065830. 4

Question Number : 84 Question Id : 64635016758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following cases did the Supreme Court of India strike down Section 303

[PC as unconstitutional ?
1.  Machhi Singh Vs. State of Punjab
2. Bachan Singh Vs. State of Punjab
3. Gian Kaur Vs. State of Punjab
4. Mithu Kaur Vs. State of Punjab
Options:
64635065831, 1
64635065832, 2
64635065833, 3
4

EAE35065834.



Question Number : 84 Question Id : 64635016758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e # ¥ 59 ame | YRde J9f= Ied | HRAIE <8 9fgar @ 4R 303 @
3deT=e Ad §U gl f&ar?

1. 73! ¥ 39 UoE T

2. 9= g ¥9H U9 I

3. o= ok =\ i9E T

4, ™Y HR FTH goS TG

Options:

64535065831, 1
64535065832, 2
483508583232 2
4535085824 4

Question Number : 85 Question Id : 64635016759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Sedition means

1.  expressing disapprobation of the measure of the government with a view to
obtain their alteration

2. advocacy of boycott of foreign goods as a means of helping Indian
industries

3. exciting or attempting to excite hatred towards the government through a
writing which remains with the author unpublished

4. bringing or attempting to bring the government into hatred through words,
signs or visible representation
Options:
64635065835, 1
64635065336, 2
64635065837, 3
64635065338. 4

Question Number : 85 Question Id : 64635016759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
C4EZ2E0EEEEE 1
CAEZEQEEEZE. 2
C4EZE0EEEET. 2
E4EZENEEEEE. 4

Question Number : 86 Question Id : 64635016760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A servant collected money from the debtor of his master as authorised by him. The
servant retained the money because it was due to him as wages. He commits

1. criminal breach of trust
2. theft
3. no offence

4. criminal misappropriation
Options:
64635065839, 1
64635065840, 2
64635065341, 3
64635065342, 4

Question Number : 86 Question Id : 64635016760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635065839, 1
E4E35085840. 2
45350653541, 5
64535065842, 4

Question Number : 87 Question Id : 64635016761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

X, with the intention to cause miscarriage administered a drug to a pregnant lady, ¥. The
child in the womb died. X 1s guilty of

1.  murder
2. culpable homicide not amounting to murder
3. no offence

4. causing miscarriage

Options:

4835065343, 1
64535065544, 2
64535065845, o
64535065846, 4

Question Number : 87 Question Id : 64635016761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535065843, 1
64535065844, 2
64535065845 2
4835085846, 4

Question Number : 88 Question Id : 64635016762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Whoever counterfeits, or knowingly performs, any part of the process of counterfeiting
Indian coin under Section 232 by Indian Penal Code shall be punished with

—

imprisonment which may extend to fen years and fine
2. amprisonment which may extend to seven years and fine
3. imprisonment which may extend to five vears and fine

4. imprisonment which may extend to three years and fine
Options:
64635085847, 1
64635065848, 2
64635085849, 3
64635065850, 4

Question Number : 88 Question Id : 64635016762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4535065547, 1

E4E3506584E8. 2
EAE35065849. 3
E4E35065850. 4

Question Number : 89 Question Id : 64635016763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List-II ;

List—I List—II

(a) Fighting by two or more persons in (1) Abetment
public place

(b) Intentional aiding in commission of an (1) Sedition
offence

(c) Violence is caused by five or more (i) Affray
persons

(d) Offence committed against state by (1iv) Riot

words, signs or visible representation

Choose the correct option from those given below :
L. (a-(m); (b)), ()-av); (d)—1)
2. (aHur); (b)-0); (©)-av); (d)~(1)
3. (@Hiv); (b)-(i); (¢)-(11); (d)—1)
4. (@a)H1); (b)-v); (e)-(); (d)—11)

Options:

64535065551, 1
64535065852, 2
64535065853, o
64535065854, 4



Question Number : 89 Question Id : 64635016763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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L. (a)i); (b)-); ()-Gv); (d)1)
2. (@-(m); (b)—1); (¢)-v); (1)
3. (@-(v); (b)-(n); (c)-); (d)—1)
4. (@-0); (B)-v); (e)-); (d)—(u1)

Options:

64535065851, 1
64535065852, 2
E4E35085852. 2
4535085854 4

Question Number : 90 Question Id : 64635016764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which section of Indian Penal Code deals with solitary confinement?

1.
Z.

3

4,
Options:
64535065855,
64535065856,
64535065857,
E4AE2E0658EE,

Section 73 of [PC
Section 72 of [PC
Section 71 of IPC

Section 70 of IPC

1
2
=1
4



Question Number : 90 Question Id : 64635016764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635065855, 1
64535065856, 2
64535065857, 2
64535065858, 4

ot

Question Number : 91 Question Id : 64635016765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following is not a constituent of Tort?

1.  Wrongful act

2. Damage
3. Remedy
4. Mens rea

Options:

64535065859, 1
4835085860, 2
4535085861, 2
4535065862, 4

Question Number : 91 Question Id : 64635016765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535065859, 1
64535065860, 2
4835085861, 2
E4E350858E2. 4

Question Number : 92 Question Id : 64635016766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which one of the following cases it has been held that section 9 of Civil Procedure
Code, 1973, which enables a civil court to try all suits of civil nature, impliedly confers
Jurischetion to apply the law of torts as principles of justice, equity and good conscience?

1.  Union Carbide Corporation Vs. Union of India
2. Guarat State Road Transport Corporation Vs. Ramanbhai Prabhatbhai
3.  Rohtas Industries Ltd. Vs. Rohtas Industries Staff Union

4. Waghela Rajsanp Vs. Shekh Masludin
Options:
64835085863, 1
64635065864, 2
64635065865, 3
64635085866, 4

Question Number : 92 Question Id : 64635016766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535065863, 1
64535065864, 2
E4E35085865. 2
E4E350E5866. 4

Question Number : 93 Question Id : 64635016767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

An accident 1s “one out of ordinary course of things, something so unusual as not to be
looked for by a person of ordinary prudence’, is said to be

1. Negligence
2. Inevitable Accident
3.  Actof God

4.  damnum sine injuria
Options:
64635085867, 1
64635085868, 2
64635065869, 3
64635065870, 4

Question Number : 93 Question Id : 64635016767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835065867, 1
E4E35085EEE. 2
64535065869, o
4535065870, 4

Question Number : 94 Question Id : 64635016768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is a leading case on trespass ab initio?
1.  Goldsmith Vs. Sperring Ltd.
2. Dumbell Vs. Roberts
3.  Bird Vs. Jones

4. Six carpenters’ case
Options:
64535065871, 1
64635065872, 2
£46350R5873. 3
£4635085874. 4

Question Number : 94 Question Id : 64635016768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
64535065871, 1



EAGB3IS0E5E7Z. 2
BAE35065873. 3
E4E35065874. 4

Question Number : 95 Question Id : 64635016769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Holback Hotel Ltd. Vs. Scarborough Borough Council is a leading case on

1. negligence

LR nusance
3.  ftrespass
4.  defamation

Options:

64635065875, 1
E4E3S0B5E7E. 2
E4E3E0EEEYY. 2
4535065878, 4

Question Number : 95 Question Id : 64635016769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635065875, 1
64535065876, 2
64535065877, 2
E4E35085E7E. 4

Question Number : 96 Question Id : 64635016770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“Test of control® deals with

1.  master and servant relationship
measures of damages

course of employment

s 1R

implied authority

Options:

64635065879, 1
E4E3S085880. 2
4535065581, 5
4535065882, 4

Question Number : 96 Question Id : 64635016770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
4250655879 1
435065880, 2

64535065881, 3
64535065882, 4

Question Number : 97 Question Id : 64635016771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“We have to evolve new principles and lay down new norms which will adequately deal
with new problems which arise in a highly industrialised society” was laid down n

1. Common Cause Vs. Union of India

M. C. Mehta Vs. Union of India
Invercargill City Council Vs. Hamlin
Union of India Vs. Sat Pal Dharam Vir

o Sl oo

Options:
4535065553 1

EAE35065884. 2
EAE35065885. 3
EAE350658586. 4



Question Number : 97 Question Id : 64635016771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535065883, 1
64535065884, 2
64835085885 2
E4E35085E8E6. 4

Question Number : 98 Question Id : 64635016772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A Statutory Board conducting examinations is not a service provider and does not offer
services to candidates while conducting an examination” was held by the Supreme Court
in

1.  Buddhist Mission Dental College and Hospital Vs. Bhupesh Khurana (2009)
2. Bihar School Examination Board Vs. Suresh Prasad Sinha (2009)
3.  Madan Kumar Singh Vs. District Magistrate, Sultanpur (2009)

4.  UT Chandigarh Administration Vs. Amarjeet Singh (2009)

Options:
4535065557, 1

EAEZS0E58EE. 2
E4E35065889. 3
E4E535065830. 4

Question Number : 98 Question Id : 64635016772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
4535065557, 1

EAEZS0E58EE. 2
E4E35065889. 3
E4E535065830. 4

Question Number : 99 Question Id : 64635016773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Uninsured vehicles are also within the scope of Section 165 of the Motor Vehicles Act’
was held in

1. LIC of India Vs. Raj Kumar Mittal (1985)
2. Kamal Kusha Vs. Kripal Singh (1988)
3.  Permanand Thakur Vs. Commussioner, Coal Mines (1988)

4.  New India Assurance Co. Ltd. Vs. Nakul Gurung (2010)

Options:
E4E350655491.

EAE3S0E5892,
EAE35065893.
EAE35065894.

[ N

Question Number : 99 Question Id : 64635016773 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3rditia A= it Ak aF S~ aw Tt 4T 165 B Ui & Sfrid ord & U HI T §
1. Ud.3RHE. % Sfea 99| Jegur] e (1985) o
2. HHA M fhura g (1988) A
3. URHFG 31PR 9 HHIYFR, Hid A5 (1988) H
4. g iET UG S TS 899 T%d T (2010) ®



Options:

64535065591, 1
4835085892 2
4535085892 2
64535065894, 4

Question Number : 100 Question Id : 64635016774 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The remedies for the violation of Sections 3 and 4 of the Competition Act have been laid
down under

i

Section 26
2. Section 27
3 Section 42 A

4. Section 43A

Options:

64635065895, 1
4835085896, 2
4535065897, 5
4535065898, 4

Question Number : 100 Question Id : 64635016774 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

vyt o &t 4RT 3 3R 4 & S &1 IUaR B o @ ey g mn 22

1. URI26
2. W27
3. UNI42 U
4. U143 T

Options:

453506855595, 1
64535065896, 2
64535065897, 2
64535065898, 4

Question Number : 101 Question 1d : 64635016775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



The communication of an acceptance is complete as against the proposer
1.  when 1t 1s posted to him
2. when it comes to the knowledge of the proposer
3.  when the letter containing acceptance is received by the proposer.

4. when it is put in the course of transmission, so as to be out of the acceptor’s
power
Options:
64635065899, 1
64635065900, 2
64635065901, 3
64635065902, 4

Question Number : 101 Question Id : 64635016775 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TS & g Wipid o1 YUv0 OF ST e
1.  NIE 3 IS A 9 T
2. OISO UGS o 9 H ST
3. O Wipld U WRdTae & T g T 8t
4. 9 I8 R H © e dsfied 1 Iied 9 W El

Options:
4535065599,

1
E4E350653900. 2
E4E35065901. 3
E4E535065390%. 4

Question Number : 102 Question 1d : 64635016776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The inadequacy of consideration will be taken into account by a court of law

1.  when the promisor expresses his desire to get maximum return for his
promise

2. when the promisor performs his promise

3.  when fraud, coercion or undue influence in the formation of the contract 1s
pleaded

4. always at the discretion of the court



Options:

64535065903, 1
4835085904, 2
4535085305 2
64535065906, 4

Question Number : 102 Question Id : 64635016776 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT g1 Uit d 1 ATt I &= H @1 Sl
1. o9 TE-edl 30 a9 & fo Sfiiean viatd U @t 551 1ed Sl @
2. O TEEETEl SO a9 HTET §
3. o9 dfae & fmior 8 suc, yoites sran sEfRa wHEa &1 siftaas fdar man g
4.  THIOAET & fdde W)

Options:
45350685503 1

E4E350658904, 2
E4E350653905. 3
EAE35065306. 4

Question Number : 103 Question Id : 64635016777 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The principle “Restitution stops where repayment begins’ can be applied against

1. analien enemy only
2. minors only
3.  lunatics and idiots only
4.  anincapable person

Options:

64635085907, 1

£4635065908. 2

E4E350653903. 3
E4E350653910. 4

Question Number : 103 Question Id : 64635016777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TR T ST € 8] UM 3 BidT & &1 figra @ &) 9o &
1. a9 e T W
2. &9 ATH W

3. S99 UFTd aul 918 ®
4. 3y e W

Options:

64535065907,
64535065908,
48350659039,
4535085910,

[ N

Question Number : 104 Question Id : 64635016778 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

A wife has an implied authority of the husband to buy articles of household necessity

1. if the wife 1s living with her husband in a domestic establishment of their
owWn

2. if the wife is living separately
3. if the wife is living with her husband not in a domestic establishment

4. 1f the wife 1s provided a reasonable allowance by the husband for the
purchase of household needs

Options:

64535065911, 1
64535065312 2
64835085912 2
64535065914, 4

Question Number : 104 Question Id : 64635016778 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et 3t Tl Wit & g vl &1 ofd R faféa ofter §
1. gfe udt 3= ufd & 914 350 WU S Ao H gdt ¢
2. AR R S A R
3. gfg udl 3ue ufd & WY ave I H T8 @l
4. O U @ uld gr e @t et wites & i ggRa v e s g

Options:




E4E35065911. 1
64535065912, 2
64535065913, 3
64535065914, 4

Question Number : 105 Question Id : 64635016779 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is incorrect regarding meamng of ‘Merchantable quality of
goods’?

1.  the goods are free from patent defects
2. the goods are free from latent defects
3.  the goods can be used for the purpose for which they are bought

4. that the goods are marketable at their full value
Options:
64635065915, 1
64635065916, 2
64635065917, 3
64635065918, 4

Question Number : 105 Question Id : 64635016779 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U 31 T TorEwr ¥ ST HI9-91 U5 HY= TTed 87
1. WS A gee
2. HId 3y oISt 3 g
3. HId & Y 39 322 & fou foan off gean g e i ag el man @
4. HIE R [ g W fJuug 2

Options:

64635065915, 1
4835085916, 2
4535065917, 5
64535065918, 4

Question Number : 106 Question Id : 64635016780 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which section of the Partnership Act it is laid down that there can be a partnership in
a single or particular business venture?

1. Section 8
Z. Section 9
3. Section 10

4, Section 11

Options:

64535065919, 1
64535065320, 2
64835085921, 2
4535085322 4

Question Number : 106 Question Id : 64635016780 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Treitert siftfam 9 feg 4 | ag aftfa € i ved sryar il ey d) # agier @t o
Tl 82

1. HRI8
2. Y9
3. 4110

4. HRI11

Options:

64635065919, 1
64535065920 2
64535065321, 2
4835085922 4

Question Number : 107 Question Id : 64635016781 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Every offence punishable under Section 147 of the Negotiable Instruments Act, 1881 is
1.  compoundable
2.  non-compoundable
3. cognizable

4. Both(2) and (3) above

Options:



EAE35065923. 1
BAE35065924. 2
B4E35065925. 3
64535065926, 4

Question Number : 107 Question Id : 64635016781 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

RepTH forga SiffaH, 1881 &1 YR 147 & siarid vdie 3OUY GUs-1d €, 78 -

1. IHA™
2. 3NHAE
3. 39

4. Tuded (2) 9 (3) T

Options:

64835065923, 1
4535085324 2
64535065925, o
4535065926, 4

Question Number : 108 Question Id : 64635016782 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following actions can be taken when an 1ssue 1s made under the provisions
of Section 42 of the Compamies Act, 20137
1.  An advertisement can be issued in a local newspaper having city coverage
2. The money payable towards subscription can be received in cash

3. The share can be allotted within sixty days of the date of offer

4. The offer can be made to a maximum of fifty people

Options:

64535065927, 1
64535065328, 2
E4E35085929. 2
64535065920, 4

Question Number : 108 Question Id : 64635016782 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



S RAREE 2013 3 URT 42 & I & 3ol OF SIS A §9d1 8, d PRufiiEd
HI-Tt BIEATS B o THal 52

|1

2.

3.

4.

Options:

EABE3S0E5927.
EAE35065925.
EAE35065929,
B4E535065930.

Question Number

e FHavel aTd R IG FHER-UA # A= fean o g g
3fie & vl 3T I I | v Y o I @

TTa St ffd | W16 7 & Sie R &1 s f&ar o S ¢
3w an Ta Afaadl & Fam fear off 9l ¢

L N

1 109 Question Id : 64635016783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Which section of the Companies Act, 2013 deals with corporate social responsibility?

L

2,

3.

4.

Options:

E4E35065921.
EAE35065932.
EAE35065933.
B4E35065924.

Question Number

Section 133
Section 134
Section 135

Section 136

L N

1 109 Question Id : 64635016783 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

HEe AT, 2013 9 HE-H 4R HORE S gifite 3 defia 22

L

2.

Options:

YT 133

HRT 134

HRT 135

HRT 136



E4E35065921. 1
B4E535065932. 2
E4E535065933. 3
64535065924, 4

Question Number : 110 Question Id : 64635016784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following activities cannot be considered as relating to social responsibility
under Section 135 of the Compames Act, 2013?

1.  Amount spent on activities which only benefit the employees of the
company

2. Amount spent to benefit people who are not economically backward

3.  Amount spent on activities which only benefit the consumers of the
organisation

4. Amount spent on activities which only benefit the suppliers of the
organisation
Options:
64635065935, 1
64635065936, 2
64635065937, 3
64635065938. 4

Question Number : 110 Question Id : 64635016784 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FHHAT UaH, 2013 P URT 135 & 3l Hafared ° § SE-91 araie e ania 9
Tafda =g 22

1. S S SHARG! B T ugar arel Tiafafial w s @t g iy
2. Y e, St anffe wU d Ues 7 § wam el s Ay

3. W F IuEdeh & @ & o € e 3 e iy

4. TEH F IAYABRI & AH & o8 &g &1 18 Al

Options:

64535065935, 1
4835085936 2
4535085927 2
64535065925, 4

Question Number : 111 Question Id : 64635016785 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Which of the following 1s not the School of Muslim Law?
1.  Hanafi
2. Malik
3.  Hanabah

4. Zada

Options:

4535065930, 1
64535065940, 2
64535065941, =
64535065342 4

Question Number : 111 Question 1d : 64635016785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frofeiea & @ -3 emyuron gt [Af @t =78 82

1. Twl
2. it
3. gl

4. W=

Options:

4835065939, 1
4535085340, 2
64535065941, o
4535065942, 4

Question Number : 112 Question Id : 64635016786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The Sapinda relationship on the line of ascent under the Hindu Law extends
1.  three degree through the father and two degree through the mother
2. ftour degree through the father and three degree through the mother
3. five degree through the father and three degree through the mother
4. seven degree through the father and five degree through the mother

Options:
4535065543 1



EAE35065944. 2
64535065945, 3
E4E3506594E. 4

Question Number : 112 Question 1d : 64635016786 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fewg faftr & srcfa oIt v | witieT Hay i 8
1. foar & &= Ot qun g Oidt A 9
2. foar 9 ar did aur 8= 9 A a
3. foar 3 uie Gt aur &5 g A

4. forar @ g 0 qur g A 5T

Options:

64535065943, 1
64535065944 2
64835085945 =2
4535085346, 4

Question Number : 113 Question Id : 64635016787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Chandra Vs. Suresh AIR 1971 Delhi 208 deals with

1. maintenance

e

custody of children

3.  Hindu undivided famly

4. decree of judicial separation
Options:
64635065947, 1
64635065943, 2
64635065949, 3
64635065950. 4

Question Number : 113 Question Id : 64635016787 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F51 S QY U, 313, 3. 1971 el 208 g @ weftm @ 2
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4. 1A 3aE S (Sl

Options:
435065547 1

E4E350659458. 2
E4E35065949. 3
E4E35065950. 4

Question Number : 114 Question Id : 64635016788 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the cases did Supreme Court hold that a relationship in the nature of marriage
under the Domestic Violence Act, 2005 must also fulfill some basic criteria, merely
spending weekends together or one mght would not make 1t a domestic relationship?

1.  Payal Katara Vs. Supt. Nari Niketan and other
2. D. Velusamy Vs. D. Patchaiammal
3.  Bharati Matha and others Vs. R. Vijaya Ranganathan and others

4. S. Khushboo Vs. Kanmammal and others

Options:

64535065951, 1
64535065352, 2
64835085952 =2
E4E35085354 4

Question Number : 114 Question Id : 64635016788 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. UEd $cd 89 3iefterss, At Roa ug org
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Options:

4635065951, 1
64535065952, 2
64535065953 2
64535055354, 4

Question Number : 115 Question 1d : 64635016789 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Under which of the following sections of Code of Civil Procedure (1908) did Indian
courts recognise or derecognise the foreign decree of divorce?

L. Section 13
2 Section 12
3. Section 15

4.  Section 16
Options:
64535065955 1
4525085956 2
4035065957, 2
64635065955 4

Question Number : 115 Question Id : 64635016789 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fofaa oftear Efgar (1908) # H9-W 4R F HER YR T fae-Rwe o faah
&t o1 Hrar St 8 Sram [ e Seft 22

1. 9713
2. HUT12
3. HHI1S
4. HHI16

Options:

64535065955, 1
64535065356, 2
64835085957, 2
4535085358 4

Question Number : 116 Question Id : 64635016790 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Dower may be regarded as consideration for connubial intercourse by way of analogy
to the contract for sale.”

The above observation has been made is which of the following cases?
1.  Abdul Kadir Vs. Salma
2. Zobair Ahmed Vs. Jainandan Prasad
3. Rahana Khattun Vs. Igtidar-uddin
4. Hamidunissa Bibi Vs. Zaheer Sheik

Options:

64535065959, 1
64535065360, 2
4835085961, 2
64535065962, 4

Question Number : 116 Question Id : 64635016790 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4835065959, 1
45350853680, 2
64535065961, o
4535065962, 4

Question Number : 117 Question Id : 64635016791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following sections of the Hindu Adoption and Maintenance Act, 1956 deals
with the ‘nights of adoptive parents to dispose of their properties’?

i Section 11
7. Section 12
3. Section 13

4. Section 14

Options:

4535065963, 1
64535065964, 2
64535065365 o
645350659366, 4

Question Number : 117 Question 1d : 64635016791 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. YRI11
2., HIET1Z2
3. HRI13
4. HRI14

Options:

4635065963, 1
64535065964, 2
64535065965 =
645350659366, 4

Question Number : 118 Question Id : 64635016792 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Two persons are said to be related to each other by what relation when they are descended
from a common ancestress but by different husbands?

1. Full blood
2. Half blood
3.  Utenne blood

4.  Agnate
Options:
E4E35065967. 1
E4EZ50E59E6E. 2
EAE250E5969. 3
EAE35085970. 4

Question Number : 118 Question Id : 64635016792 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

EAE35065967Y. 1
E4E535065968. 2
64535065969, 3
64535085970, 4

Question Number : 119 Question Id : 64635016793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is an essential condition in Marz-ul-Maut
1. A malady which makes it impossible for the patient to move
2. It must be continued for more than a year
3. There must be apprehension of death

4. A malady which causes problem with heart

Options:

64635065971, 1
E4E3S085972. 2
64535065972, 5
4535065974, 4

Question Number : 119 Question Id : 64635016793 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:



E4E35065971. 1
BAE35065972. 2
B4E35065973. 3
64535065974, 4

Question Number : 120 Question Id : 64635016794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which Article of the Indian Constitution states that “the state shall endeavour to secure
for the citizens a uniform civil code throughout the territory of India?’

|8 Article 25 of the Constitution
2. Article 37 of the Constitution
3. Article 44 of the Constitution

4, Article 45 of the Constitution

Options:

64535065975, 1
E4E3508597E. 2
E4E35085977. 2
64535065975, 4

Question Number : 120 Question Id : 64635016794 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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2. fRYE @1 g 37
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4. YT T AT 45

Options:

64635065975, 1
E4E3S085976. 2
64535065977, 5
4535065978, 4

Question Number : 121 Question Id : 64635016795 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Right to Environment” discourse includes

(a) Right to Health

(b) Right
(¢) Right

to Samtation

to Clean Technology

(d) Rightto Free Speech

Select the correct answer from the code given below :

1.

e e e

Options:

E453508597 9.
64535085350,
EAEZS0E5951.
EAE3S0E5982,

Question Number

(a), (b) and (c) are true
(b), (c) and (d) are true
(a), (c) and (d) are true
(a) and (b) are true whereas (c) and (d) are false

[

: 121 Question Id : 64635016795 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

64535065979, 1
4835085980, 2
4535085981, 2
64535065982, 4

Question Number : 122 Question Id : 64635016796 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many core principles are laid down in Umted Nations Declaration of Permanent
Sovereignty over Natural Resources?

1.  Five core principles
2.  Six core principles
3. Seven core principles

4. Eight core principles
Options:
64635065983. 1
64635065984, 2
64635065985, 3
64635065986, 4

Question Number : 122 Question Id : 64635016796 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Options:

4535065983, 1
64535065984, 2
64535065985 o
645350653386, 4
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‘Public health, samtation conservancy and solid waste management’ 1s inserted to the
Schedule of the Constitution by which of the following Constitutional Amendments?

1. 42" Constitutional Amendment
2. 44™ Constitutional Amendment
3. 73" Constitutional Amendment

4. 74" Constitutional Amendment

Options:

64535065987, 1
645350659388, 2
E4E350859289. 2
4535085390, 4
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64535065959, 3
64535085930, 4
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Correct Marks: 2 Wrong Marks: 0



“Decision making process of those authorities besides being transparent must result in a
reasoned conclusion which 1s reflective of a due application of muind to the diverse
concerns arising from a project such as the present.” This has been observed regarding
Environment Impact Assessment Law in which of the following cases?

L.

2.

3

4.

Options:

EAE35065991.
EAE35065992,
B4535065953.
645350859394,

Question Number

Utkarsh Mandal Vs. Union of India
Deepak Kumar Vs. State of Haryana
Gram Panchayat Navlakh Umbre Vs. Union of India

Tehri Bandh Virodhi Sangharsh Samiti Vs. State of UP

[ N Y

1 124 Question Id : 64635016798 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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645350859391,
E453508593%2,
E4EZS065993.
EAE35065994.
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The NGT Act, 2010 contains how many schedules?

1. One
2. Two
3. Three
4.  Four

Options:

4635065995, 1
64535065996, 2
64535065997, 2
64535065398, 4
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Options:
4535065955 1

E4E3506595E. 2
EAE35065997. 3
E4E350659398. 4

Question Number : 126 Question Id : 64635016800 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0

Which Article of the UN Charter puts the promotion of respect for human nights on the
same level as the maintenance of international peace and secunty as a purpose of the
UN?

1. Articlel
2 Article 2
3. Article 3

4.  Article 4



Options:

64535065999, 1
E4E3508E000. 2
4535086001, 2
4535066002, 4
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Options:

64535065999, 1
4535066000, 2
64535066001, =
64535066002, 4
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Which of the following Articles provides coverage for the intervention in domestic
jurisdiction for the enforcement of human right?

[—

Article 2(5) of UN Charter
2. Article 2(6) of UN Charter
3.  Article 2(7) of UN Charter

4. Article 2(8) of UN Charter

Options:

64535066003, 1
E4E35086004, 2
4535086005, 2
4535066006, 4
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Options:

4535066003, 1
64535066004, 2
64535066005, 2
4835086006, 4

Question Number : 128 Question Id : 64635016802 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following Articles of Universal Declaration of Human Rights, 1948 deals
with civil and political rights?

15 Articles 1 and 2
2. Articles 3t0 21
3.  Articles 22 to 27

4.  Articles 28 to 30
Options:
4235066007, 1
64635066005, 2
4635066009, 3
64635066010 4
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Options:

4835066007, 1
4535066008, 2
64535066009, o
64535066010 4
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Correct Marks: 2 WrongMarks: 0

In which year the Commission on Status of Women was established by Economic and
Social Council?

1. 1946

2. 1947

3. 1948

4. 1949
Options:

E4E35066011. 1
BAE35066012. 2
64535066013, 3
4535066014, 4
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Options:

64535066011, 1
E4E3508E012. 2
45350860132 2
4535066014, 4

Question Number : 130 Question Id : 64635016804 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Human rights are defined in which of the following sections of the Protection of Human
Rights Act, 19937

[—

Section 2(a)
2. Section 2(b)
3. Section 2(c)

4. Section 2(d)
Options:
64635066015, 1
64635066016, 2
64635066017, 3
64635066018, 4
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Options:

4535066015, 1
64535066016, 2
4535066017, o
64535066015, 4

Question Number : 131 Question Id : 64635016805 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“If one’s artistic expressions are synonymous with one’s personality, then they are
deserving of protection just as much as the physical person.

The above observation is true about which theory of intellectual property?
1. Moral desert theory

2. Personality theory
3. Utilitarian theory

4. Libertian theory

Options:

4535066019, 1
4535066020, 2
64535066021, =
64535066022, 4
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64535066019, 1
EAE3506E8020. 2
EAE3506E021. 3
BAEZS0EE022, 4
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The Preamble to Agreement on Trade Related Aspects of Intellectual Property Rights
(TRIPS) lays down

(a) public policy objectives of national system

(b) special needs of the least developed countries
(c
(d) establishing mutually supportive relationship between WTO and WIPO

o

resolving IP disputes through multilateral procedures

Which of following 1s/are true?
1. Only(a)is true
2. Only({a) and (b) are true
3. Only(a), (b) and (¢) are true
4.  (a), (b), (c) and (d) are true

Options:

4535066023,
645350668024,
645350668025,
64535066026,

b LI P
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Options:

4635066023, 1
4535066024, 2
64535066025, =
64535066026, 4

Question Number : 133 Question 1d : 64635016807 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Super Cassettes Industries Ltd. Vs. Myspace Inc. 2011 is aleading case on the Copyright
Act, 1957 dealing with which section of the Act?

5 Sechion 14
7.4 Sechion 22
3. Section 30

4, Section 51

Options:
435066027,

EAEZS0EE0ZE.
EAE3IS06E023,
EAEZS06E030,

[ N
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4. URTS51

Options:

64535066027, 1
64535066028, 2
4835086029 2
E4E3508E020. 4
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Correct Marks: 2 WrongMarks: 0

Bayer Corporation Vs. Union of India, 2011 case 1s dealing on which subject matters?
1.  Evergreening of patent
2.  Grant and sealing of patent
3.  Working of patenting process

4.  Surrender and revocation of patent

Options:
4535066031, 1

EAEZS0EE03Z. 2
EAE3506E033. 3
EAE35066034. 4

Question Number : 134 Question Id : 64635016808 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
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EAE35066021. 1
BAE35066032. 2
EAE35066033. 3
64535066034, 4
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The absolute grounds for refusal of registration 1s contained under which section of the
Trade Mark Act, 1999?

18 Section 7
2 Section 8
3. Section 9

4, Section 10
Options:
64535086035, 1
646350860386, 2
64835086037, 3
64635066038, 4
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Options:

E4EZ5066035. 1
EAE3506E036. 2
BAE35066037. 3
64535066038, 4
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Macleods Pharmaceuticals Ltd. Vs. Tidal Laboratories Pvt. Ltd. (201 1) 1s a case on which
subject of intellectual property rights?

L. Patent
2.  Trademark
3. Design

4. Geographical indications
Options:
64635086039, 1
£4635086040, 2
64635066041, 3
64635066042, 4
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Options:

64535066039, 1
E4E3508E8040. 2
4535086041, 2
4535066042, 4
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The prohibition of registration of geographical indication under the GIG Act, 1999
contains as many as

1.  four grounds
2. five grounds
3.  six grounds

4. seven grounds

Options:

64535066043, 1
64535066044, 2
E4E3508E6045 2
E4E3508E04E. 4

Question Number : 137 Question Id : 64635016811 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

it amz. Sit. ffm, 1999 & UMt IUcR= & UsiieRw & Foy | o= 2mur fiu m
22

. TR AR
2. UM YR
3.  ©E YR
4. 9 SMYR

Options:

4535066043, 1
64535066044, 2
64535066045 =
645350660465, 4
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Regulation of Access to Biological Diversity is described under which one of the
following Chapters of the Biological Diversity Act, 20027

=2

Chapter I
2. ChapterII

3. Chapter III
4.  Chapter IV

Options:
435066047 1

E4E3506E045. 2
EAE35066043. 3
E4E35066050. 4
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1. 3EH I
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Options:

E4E35066047. 1
64535066048, 2
64535066049, o
64535066050, 4

Question Number : 139 Question Id : 64635016813 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



‘Cyber security” according to the IT Act, 2000 means

1.  adevice and collection of devices, including input and output support
devices and excluding calculations which are not programmable and
capable of being used

2. any electronic, magnetic, optical or other high speed data processing device
or system which performs logical, arithmetic and memory functions by
manipulation of electronic, magnetic or optical impulse

3.  protecting information, equipment, devices, computer, computer resource,
communication device and information stored therein from unauthorsed
access, use, disclosure, disruption, modification or destruction

4.  affixing with its grammatical varations and cognate expressions means
adoption of any methodology or procedure by a person for the purpose of
authenticating an electronic record

Options:

£4635066051. 1
£4635066052. 2
£4635066053. 3
£4635066054. 4
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Options:

64635066051, 1
4835086052, 2
4535066052, 5
4535066054, 4
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The Cyber Regulations Appellate Tribunal Rule, 2000 has been passed under which
section of the IT Act, 20007

1. Section 84
2. Section 85
i3 Section 86

4, Section 87
Options:
40235066055, 1
64635066056, 2
64635066057, 2
64535066055, 4

Question Number : 140 Question 1d : 64635016814 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

arrs. . ofYf=am, 2000 &t g 41 & siavia S f[AfFaw endieta mnfdsor {am, 2000
&1 oIl fesa mam 22

1. HUNI84
2. Y85
3. YURI86

4. NI 87
Options:
64535066055, 1
64535066056, 2
64535066057, 3
E4AE3E06E05E. 4
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In India, “the machinery of government is essentially British and the whole collection of
British Constitutional Conventions has apparently been incorporated as conventions’ is
the observation of

1. A V. Dicey

2. Sir Ivor Jennings
3. S. A de Smith

4. Wade and Phillips

Options:

64635066059, 1
E4E3S08E0E0. 2
E4E3508E0E81. 2
4535066062, 4
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64535066059, 1
64535066060, 2
E4E3508E0E1. 2
E4E3508E0E2. 4
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Which one of the following is NOT an essential of parliamentary form of government?

1.  The presence of a nominal executive head of the state who acts exclusively
on the advice of cabinet

2. The cabinet, which 1s the real executive, consists of leaders of a party, who
have the support of the majority in the legislature

3.  The responsibility of the cabinet is collective

4. The President appoints rmmsters and assigns to them their offices.
Options:
64635066063, 1
64635066064, 2
64635066065, 3
64635066066, 4
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E4E350660E63. 1
4535066064, 2
4535066065, o
64535066066, 4
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In which one of the following cases the Supreme Court held that “the federalism 1n India,
1s not a matter of administrative convenience, but one of principle’?

1. S. R Bommai Vs. Union of India (1994)
2.  Raja Ram Pal Vs. Hon’ble Speaker, Lok Sabha (2007)
3.  Madras Bar Association Vs. Union of India (2014)

4. State of West Bengal Vs. Committee for Protection of Democratic Rights,
West Bengal (2010)

Options:

64535066067,
E4E3506E06E,
E4E3506E8069,
4535066070,

o LIPS
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4535066067, 1
4535066068, 2
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64535066070, 4
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The Constitution of India incorporates the ‘Rule of Law” in :

1. Article 14
2. Arficle 19
3. Article 21
4. Article 32

Options:

4635066071, 1
4535066072, 2
64535066073 =
64535066074, 4
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Options:

4635066071, 1
64535066072, 2
64535066073 2
E4E3508E074. 4
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The Doctrine of Separation of Powers in its strict and technical sense 1s applied in

1. India

2. UK

3 TL8i
4.  France

Options:
64535066075, 1



EAE3IS0EE07E. 2
BAEZS06E077. 3
EAE35066078. 4

Question Number : 145 Question 1d : 64635016819 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E3506E8075. 1
EAE3IS0EE07E. 2
BAEZS0EE07Y. 3
BAE35066078. 4

Question Number : 146 Question 1d : 64635016820 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Read both Assertion (A) and Reason (R) and give the correct answer by using the code
given below :

Assertion (A) : The Council of Mimsters 1s the hub of the parhamentary form of

government.
Reason (R) : The Council of Ministers (Cabinet) is constituted from the majority
party.
Code :
1. Both (A) and (R) are right and (R) 1s the correct explanation of (A)

2 Both (A) and (R) are right but (R) is not the correct explanation of (A)

=

(A) 1s right but (R) 1s wrong

4. (A)is wrong but (R) is right
Options:
64635086079, 1
£4635086080. 2
64635066081, 3
64635066082, 4



Question Number : 146 Question Id : 64635016820 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
EAEZE08E0759. 1

EAE3506E050. 2
EAE35066081. 3
BAEZ506E052. 4

Question Number : 147 Question 1d : 64635016821 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s NOT correct?
1.  Judicial review tends to elevate the judiciary to the rank of super legislature

2. The scope of judicial review is limited as it emphasises on the ‘procedure
established by law’ rather than “due procedure of law’

3.  Judicial review is indispensable to a federal system of government

4. Judicial review does not include judicial competence to review executive
enforcement of legislative enactments

Options:

4835066083, 1
645350660384, 2
64535066085, o
64535066086, 4

Question Number : 147 Question Id : 64635016821 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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: 148 Question Id : 64635016822 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Read both Assertion (A) and Reason (R) and give the correct answer by using the code
given below :

Assertion (A) : Under the Indian Constitution, an Amendment Bill passed by both

Reason (R)

Codes :
l.
2
3
4,

Options:

EABEZS0EE0EY.
EAEZIS0EE05E.
EAE3S0EE059.

BAE35066030,

Houses of Parliament by required majority shall be presented to the
President who shall give his assent and thereupon the Constitution shall
stand amended.

The President 1s bound to give his assent to the Bill.

Both (A) and (R) are right and (R) is the correct explanation of (A)
Both (A) and (R) are right but (R) is not the correct explanation of (A)
(A) 1s right but (R) is wrong

(A)1s wrong but (R) 1s night

1
2
=]
4



Question Number : 148 Question Id : 64635016822 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

EAE35066057. 1
EAE35066088. 2
E4535066059. 3
64535066030, 4

Question Number : 149 Question Id : 64635016823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The institution of ombudsman was firstly imtiated in the year 1809 by :

1. France
5. U. S A
3. LK

4.  Sweden

Options:

4535066091, 1
64535066092, 2
64535066093, =
64535066094, 4



Question Number : 149 Question Id : 64635016823 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635066091, 1
E4E3508E092. 2
4535066092, 5
4535066094, 4

Question Number : 150 Question Id : 64635016824 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

*A citizen has a fundamental right to use the best means of imparting and receiving
information and as such to have an access to telecasting for the purpose’ is the
observation of the Supreme Court in

1.  Minstry of Information and Broadcasting, Government of India Vs. Cricket
Association of Bengal (1995)

2. Prabhu Dutt Vs. Umon of India (1982)
3.  Dinesh Trivedi Vs. Union of India (1977)

4. Pramati Educational and Cultural Trust Vs. Union of India (2014)

Options:

64535066095, 1
64535066096, 2
64535066097, =
E4E3508E098. 4

Question Number : 150 Question Id : 64635016824 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. I U9 UNIRY HAad, HRd TSGR §9TH e TAIieuR 1% Sd (1995)
2. UYTT M HRA 99 (1982)
3. e Bad 89 YRa 99 (1977)
4. THR T U Seed i SIH YR §Y (201 4)
Options:
C4E2E0860595. 1
C4EZE0860598. 2

EdEZ50EE037. 3
E4EZE0EE09E. 4



